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Introduction

How to Use this Book

This book is primarily intended for students who have already studied some
book-keeping. However, since all the principles and techniques are illustrated in
the relevant chapters, it is not a prerequisite to have any previous knowledge.

You are recommended to read a chapter, understanding each technique which
is being explained, before proceeding to the next point. You should then study
the worked examples and solutions, making sure that you fully understand how
the solutions have been arrived at, and why.

Only when you are sure you have completed this stage should you proceed to
the Further Exercises. These should be attempted without reference to the answers
that follow; use the answers given to compare with your own, to ensure that you
have fully understood the subject matter.

The book contains over 100 questions from past papers set by various examina-
tion bodies, and if you successfully work through these, you will be adequately
prepared to achieve success in your examination.

Revision

Before you start to revise, find out exactly which syllabus you are following and
obtain a copy of it. The book contains many questions from the most recent
examination papers of various examination boards. However, having worked
through these, you may wish to obtain copies of past papers from your own
examination board. Certainly the best way to check your revision progress in
Accounting is to work carefully through as many typical questions as you pos-
sibly can. Take a topic at a time, make certain that you understand fully the key
points of theory and then attempt a range of questions.

The examination

In practical accounting examinations it is vital that you allocate the time you
spend on each question according to the number of marks awarded for the ques-
tion. Calculate how long you can afford to spend on each question and do not
spend more time on it.



1 Principles of

Double-entry Book-keeping

1.1

1.2

Introduction

Book-keeping is concerned with recording business transactions. The principle of
double-entry book-keeping is based upon every transaction having two aspects or
two parts, and for this reason two entries are made in the books of account in
respect of each transaction.

Entries are made in a business’s books of account, whether they be hand-
written or computerised, by setting up various accounts and making debit and
credit entries to those accounts. These terms are abbreviated to Dr. (debit) and
Cr. (credit). Debits and credits can be likened to pluses and minuses or positives
and negatives, which, in fact, is exactly what they are in computerised systems.

What we must do when making accounting entries is to decide (a) which
accounts are affected and (b) whether the entries to those accounts are debit or
credit. It is the basic principle of double-entry book-keeping that the answer to
the above questions will always result in the amounts being debited to an account
(or accounts) being equal to the amounts being credited to another account (or
accounts). In order to formulate rules for debits and credits, we must categorise
the accounts we keep into types of account.

Types of account

(a) Assets

Assets are things which we own — for example, buildings, motor vehicles and cash.
Debtors are also an asset, since they represent something of value to the business
— that is, an amount due to it.

(b) Liabilities

Liabilities are amounts owed by the business to other people.

(c) Expense

Expense accounts include such things as rent, electricity and purchases of goods
for resale.



(d) Income

Income accounts record amounts of revenue to the business, such as sales, rents
receivable and commission receivable.

1.3 Rules of double-entry book-keeping

Since the double-entry system is at the heart of book-keeping, you should under-
stand the rules for it and commit them to memory.

Type of account debit credit
Assets/Expenses to increase to decrease
Liabilities/Income to decrease to increase

Let us now apply these rules to some typical business transactions.
(i) The owner starts the business by introducing £5,000, which he pays into a
business bank account. The entry is

Dr. bank (an asset) to increase it
Cr. capital (a liability) to increase it

The capital account represents the owner’s account with the business. The con-
cept may seem strange at first, but you must remember that you are keeping the
books of the business, not the owner’s personal books, and the capital introduced
by the owner is amount due to the owner from the business.

(ii) The business purchases goods for resale, paying by cheque £1,000:

Dr. purchases (an expense) to increase it

Cr. bank (an asset) to decrease it

(iii) The business purchases goods for resale on credit to the value of £2,000
from A. Brown:

Dr. purchases (an expense) to increase it

Cr. A. Brown (a liability) to increase it

(iv) The business sells goods for cash £500:

Dr. bank (an asset) to increase it
Cr. sales (an income) to increase it

The table below gives some further examples.



Transaction Account to be debited Account to be credited |
|

Sold goods on credit to B. Jones: £600 B. Jones Sales

Bought van for cash: £1,500 Van Cash
Bought desk on credit from Office Office Furniture Office Supplies Ltd
Supplies Ltd: £200
| Paid wages Wages Cash
Paid rent by cheque: £200 Rent Bank
Sold goods on credit to C. White: £300 | C. White Sales
Paid electricity bill by cheque: £50 Electricity | Bank
C. White paid the amount owing by him Bank Jis i White

by cheque: £300

Make sure that you have understood how the rules have been applied to each of
the above transactions before proceeding.

1.4  An illustration of the account

The ledger account is divided into two sides — a left-hand side, the debit side, and
a right-hand side, the credit side. The name of the account must be clearly stated
at the top. Below is the bank account as it would appear using the transactions
in Section 1.3.

Dr. Bank account Cr.
Date £ Date £

Jan. 6 Capital 5,000 Jan.7 Purchases 1,000
Jan. 8 Sales 500 Jan.11 Rent 250
Jan. 15 C. White 300 Jan. 13 Electricity 50

You should notice how each side has a column to record the following:

(i) The date.

(ii) The name of the account to which the opposite entry is made — that is, the
account credited where the bank account is debited and the account debited
where the bank account is credited.

(iii) The amount or figures column. In practice this would record pounds and
pence, but the pence have been omitted here for illustrative purposes.

The headings ‘Dr.’ and ‘Cr.’, while shown here, are often omitted in practice
and are therefore usually not shown in the remainder of the book.

1.5 Balancing off the account

So far we have recorded debit and credit entries on our account. Looking to the
bank account in Section 1.4 above, we cannot readily see the balance of our bank
account. A computerised system will usually print the balance of the account
after each transaction, but in a manual system we must calculate the balance, or
balance off the account, as we call it.



1.6

1.7

Looking again to the bank account in Section 1.4, we can total each side of the
account and calculate that

debit entries total £5,800
credit entries total £1,300

Debit entries therefore exceed credit entries by £4,500 (£5,800 less £1,300). We
can say, then, that the account has a debit balance of £4,500. If the total of credit
entries exceeds the total of debit entries, then the account has a credit balance.

The balancing-off process will now be described. On the credit side of the
account we write the amount of the debit balance with the description ‘balance
c¢/d’ (c/d = carried down). Next the entries are totalled for both the debit side and
the credit side. These totals should be equal, since the amount written in as
balance on the credit side was calculated to achieve just that. Finally, the balance
which we have calculated is written in on the appropriate side of the account
(that is to say, a debit balance on the debit side) with the description ‘balance
b/d’ (b/d = brought down).

The above process is now illustrated.

Bank account

Date £ Date £
Jan. 6 Capital 5,000 Jan. 7 Purchases 1,000
Jan. 8 Sales 500 Jan. 11 Rent 250
Jan. 11 C. White 300 Jan. 13 Electricity 50
Jan. 15 Balance c/d 4,500
5,800 5,800

Jan. 16 Balance b/d 4,500

Notice how the balance is usually carried down at the close of business on one
day, and brought down at the start of business on the next day.

Purchases and sales returns

A purchases returns account is used to record the value of goods returned by a
business to its suppliers. When goods are returned, the creditor’s account is debited
in order to decrease the liability to him and the purchases returns account is
credited.

The sales returns account is used to record the value of goods returned to a
business by its customers. When goods are returned, the debtor’s account is
credited in order to decrease the asset and the sales returns account is debited.

Worked example

Example 1.1

We shall now look at a typical examination question and illustrate how the entries will
appear in the books of account.



1 December

8 December
12 December
19 December

8 December
20 December
29 December

8 December
19 December

20 December
29 December

Solution 1.1

B. Brown started business with £5,000 in a bank account.

His purchases of stock on credit during the month were:

T. Smith
R. Gray
B. Coals

£

400
300
140

His sales of stock on credit during the month were:

R. Pike
T. Trout
R. Pike

£

600
700
400

Cash sales during the month, all paid into the bank, totalled £900.
Other purchases and payments by cheque were:

Rent
Electricity
Motor van
Packing paper

£
40
130
1,000
140

R. Pike settled his account in full by cheque and Brown paid Smith, Gray
and Coals in full by cheque. Brown purchased additional furniture and
fittings on credit from Office Supplies Ltd for £500.

Capital
£ £
Dec.1  Bank (1) 5,000
Bank
£ £
Dec.1  Capital (1) 5,000 Dec.8  Rent ) 40
Dec.31 Sales ®) 900 Dec.19 Electricity (10) 130
Dec.29 R.Pike (13) 1,000 Dec.19 Motor van (11) 1,000
Dec. 20 Packing paper (12) 140
Dec.29 T. Smith (14) 400
Dec.29 R.Gray (15) 300
Dec.29 B. Coals (16) 140
Purchases
£ £
Dec.8  T.Smith ) 400
Dec. 12 R. Gray 3) 300
Dec. 19 B. Coals 4 140
T. Smith
£ £
Dec.29 T.Smith (14) 400 Dec.8  Purchases ?2) 400
R. Gray
£ £
Dec.29 R.Gray (15) 300 Dec.12 Purchases 3) 300
B. Coals
£ £
Dec. 29 B. Coals (16) 140 Dec.19 Purchases )] 140



Sales

£ £
Dec.8  R.Pike ®) 600
Dec.20 T. Trout (6) 700
Dec.29 R.Pike ) 400
Dec.31 Cash 8) 900
R. Pike
£ £
Dec.8  Sales %) 600 Dec.29 Bank (13) 1,000
Dec. 29 Sales 7 400
T. Trout
£ £
Dec. 20 Sales 6) 700
Rent
£ £
Dec.8  Bank ) 40
Electricity
£ £
Dec. 19 Bank (10) 130
Motor van
£ £
Dec. 19 Bank (11 1,000
Packing paper
£ £
Dec.20 Bank (12) 140

Furniture and fittings

£ £
Dec.29 Office Supplies Ltd  (17) 500

Office Supplies Ltd

£ £
Dec.29 Furniture and
fittings a7 500

You should notice how the entry records the following: (a) the date; (b) the
other account to which an entry is made; (c) the reference (you should use this
to understand the entries); and (d) the amount.

1.8  Further exercises

Question 1.1

Marion decides to open a boutique and rents a shop for the purpose. The following are her
business transactions.

Jan. 7 She pays £4,000 into a business bank account

Jan. 8 She pays £3,000 for fixtures and fittings for the shop

Jan. 10  She buys on credit clothes costing £2,600 from Wholesale Clothing Ltd
Jan. 11  She pays into the bank the first week’s takings of £1,650



Jan. 12  She buys more clothes on credit from Good Supplies Ltd £1,100
Jan. 14 She pays rent of £1,100

Jan. 18  She pays into the bank the second week’s takings of £1,800
Jan.20  She pays an electricity bill of £50 by cheque

Jan.21  She pays £40 for stationery

Jan. 25  She banks the week’s takings of £1,295

Jan. 28  She pays Wholesale Clothing Ltd the amount due to them

Jan. 29  She returns soiled clothes to Good Supplies Ltd £50

Jan.31  She values stock of clothes at cost £1,000

Set out all of the accounts in the books of Marion’s boutique business and balance
off the bank account.

Answer 1.1
Bank
£ £
Jan. 7 Capital 4,000 Jan. 8 Fittings and furniture 3,000
Jan. 11 Sales 1,650 Jan.16 Rent 1,100
Jan. 18  Sales 1,800 Jan. 20  Electricity 50
Jan.25  Sales 1,295 Jan. 21  Stationery 40
Jan. 28 Wholesale Clothing 2,600
Jan. 31 Balance c¢/d 1,955
8,745 8,745
Feb. 1 Balance b/d 1,955
Wholesale Clothing
£ £
Jan. 28 Bank 2,600 Jan. 10  Purchases 2,600
Sales
£ £
Jan. 11  Bank 1,650
Jan. 18 Bank 1,800
Jan.25 Bank 1,295
Rent
£ £
Jan. 14 Bank 1,100
Capital
£ £
Jan.7 Bank 4,000
Fittings and furniture
£ £
Jan. 8 Bank 3,000
Purchases
£ £

Jan. 10 Wholesale Clothing 2,600
Jan. 12 Good Supplies Ltd 1,100



Purchases returns

£ £
Jan. 12 Good Supplies Ltd 50

Good Supplies Ltd

£ £
Jan. 12 Purchases returns 50 Jan. 12 Purchases 1,100
Electricity
£ £
Jan. 20 Bank 50
Stationery
£ £
Jan.21 Bank 40

Question 1.2

Enter the following transactions into the books of D. Margrave for the month of September.

Sept. 1 Cash in hand £150

Sept. 2 Bought £350 of goods on credit from C. Russell
Sept. 3 Paid electricity £40

Sept. 4 Cash sales £140

Sept. 5 Paid wages £80

Sept. 11 Cash takings £165

Sept. 15 Bought office furniture £60

Sept. 18 Cash sales £150

Sept. 21  Sold goods to P. Lynch on credit £50
Sept. 25 Paid advertising £50

Sept. 27 Cash sales £140

Answer 1.2
Cash
£ £
Sept. 1 Capital 150 Sept. 3 Electricity 40
Sept. 4 Sales 140 Sept. 5 Wages 80
Sept. 11 Sales 165 Sept. 15 Office furniture 60
Sept. 18 Sales 150 Sept. 25 Advertising 50
Sept. 27 Sales 140 Sept. 30 Balance c¢/d 515
745 745
Oct. 1 Balance b/d 515
Capital
£ £
Sept. 1 Cash 150
C. Russell
£ £

Sept. 2 Purchases 350



Purchases

£ £
Sept. 2 C. Russell 350

Electricity
£ £
Sept. 3 Cash 40
Sales
£ £
Sept. 4 Cash 140
Sept. 11 Cash 165
Sept. 18 Cash 150
Sept. 21 P. Lynch 50
Sept. 27 Cash 140
Wages
£ £
Sept. 5 Cash 80
Office furniture
£ £
Sept. 15 Cash 60
P. Lynch
£ £
Sept. 21 Sales 50
Advertising
£ £
Sept. 25 Cash 50

Note: The reason for only balancing off the cash account at
this stage will become clear in the following chapters.



The Trial Balance

2.1

Introduction

So far we have concerned ourselves with the posting of transactions to the ledger
accounts, and we have seen how we balance off the cash account. The next stage
in the book-keeping process is to examine the balances which exist on all of the
accounts which we have opened. Looking to worked example 1.1 in Chapter 1,
we shall now examine the balance on each of the accounts in the books of B.
Brown.

(a) Capital

There is only one entry on this account, a credit entry for £5,000. Hence, the
account has a credit balance of £5,000, representing the liability of the business
to the owner.

(b) Bank

The debit entries total £6,900, as compared with credit entries totalling £2,150.
If we deduct £2,150 from £6,900, we arrive at £4,750, which is the debit balance
on the account representing the amount of money which, according to our
records, we have in our bank account.

(c) Purchases

There are three debit entries totalling £840. A debit balance of £840 representing
our total purchases to date.

(d) T. Smith

On this account the amount of the debit entry equals the amount of the credit
entry. We can therefore say that the account has a nil balance. This reflects the
fact that there is now neither an amount owing to T. Smith nor an amount owing
from T. Smith, since we purchased goods from him and at a later date we settled
that debt.

(e) R. Gray

Exactly the same comments apply as for T. Smith.

11
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(f) B. Coals

Exactly the same comments apply as for R. Gray and T. Smith.

(g) Sales

The credit entries totalling £2,600 with no debit entries means a credit balance
of £2,600, reflecting our total sales to date, both for cash and on credit.

(h) R. Pike

As with T. Smith’s account, the debit entries in total equal the credit entry and
there is therefore a nil balance on the account, reflecting the fact that after the
transactions entered there is neither an amount owing to nor an amount owing
from R. Pike.

(i) T. Trout
A single debit entry of £700 on this account means that there is a debit balance

of £700, representing the amount due from T. Trout — i.e. T. Trout is a debtor
for that amount to the business.

(j) Rent

A single debit entry of £40 means that there is a debit balance of £40, repre-
senting the total expense on this item during this period.

(k) Electricity

The same comments apply as for rent. A debit balance of £130, representing the
amount spent on electricity during the period.

(1) Motor Van

A debit balance of £1,000 represents the book value of the asset motor van.

(m) Packing Paper

Another expense account, this time with a debit balance of £140, representing
the business’s expenditure on this item.

(n) Furniture and Fittings

A debit balance of £500, representing the book value of the asset furniture and
fittings.



2.2

2.3

(o) Office Supplies Ltd

A credit balance of £500, representing the liability of the business to Office
Supplies Ltd.

Purpose of the trial balance

Having ascertained the balance on our various accounts, we are now in a position
to progress a stage further in the book-keeping process.

You will recall from the first chapter that the whole basis of double-entry
book-keeping is a system of debit and credit entries of equal amounts. If we have
adhered to this rule, it should be obvious that if we list the debit and credit
balances the totals of each should be equal. This is the whole purpose of the trial
balance — to check the arithmetical accuracy of our book-keeping. If our totals of
debit balances and credit balances are equal (i.e. our trial balance agrees), then we
have proved the arithmetical accuracy of our book-keeping.

You should note two things in particular regarding the trial balance.

(i) It is not part of the double-entry system of book-keeping.

(ii) The following errors will not be revealed by the trial balance: (a) a posting of
the correct amount to the correct side of an account but to the wrong account;
(b) a posting of the wrong amount to both the debit of one account and the
credit of another (provided that it is the same wrong amount in both cases);
(c) failure to enter a transaction anywhere in the books.

The subject of errors is dealt with fully in Chapter 8.

Worked examples

Example 2.1

From the books of B. Brown illustrated in Chapter 1 prepare the trial balance of B. Brown’s
business as at 31 December.

Solution 2.1

Dr Cr
£ £
Capital 5,000
Bank 4,750
Purchases 840
Sales 2,600
T. Trout 700
Rent 40
Electricity 130
Motor van 1,000
Packing paper 140
Furniture and fittings 500
Office Supplies Ltd 500

£8,100 £8,100
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You should notice:

(i) The debit balances and credit balances both total £8,100 — i.e. our trial
balance agrees and thus the arithmetical accuracy of our book-keeping has

been proved.

(ii) The accounts with a nil balance (e.g. T. Smith) have been omitted, since these
can now be considered closed.

Example 2.2

The following were the balances in the books of G. Green as at 31 March 1985, omitting the
capital account. You are asked to prepare the trial balance at 31 March 1985, the capital
account being included as the balancing figure.

Bank overdraft
Heating

Sales

Purchases
Commission income
Cash in hand
Debtors

Creditors

Owner’s drawings

Postage and stationery

Premises
Repairs to buildings

£
2,416
213
16,134
11,210
1,367
110
4,130
2,695
600
715
26,900
620

Note: There are two or three new accounts mentioned here, but you should be able to work
out whether they are debit or credit balances from the rules which you have already learned.

Solution 2.2

Bank overdraft (1)
Heating

Sales

Purchases
Commissions received
Cash in hand

Debtors

Creditors

Owner’s drawings (2)
Postage and stationery
Premises

Repairs to buildings
Capital (3)

NOTES

Dr. Cr.
£ £
2,416
213
16,134
11,210
1,367
110
4,130
2,695
600
715
26,900
620
21,886
£44.498 £44.498

(1) Bank overdraft is a liability to the bank — i.e. a credit balance.

(2) Owner’s drawings represents money withdrawn from the business by the
owner — i.e. he becomes a debtor of the business for this amount although it
will usually be set off later against his capital.

(3) Balancing figure as required in the question.



You should notice how the debit balances are either (a) assets (e.g. premises,
debtors, cash) or (b) expenses (e.g. heating, purchases, repairs) and also that credit
balances are either (a) liabilities (e.g. creditors) or (b) income (e.g. sales, commis-

sion received).

2.4  Further exercises

Question 2.1

From the books of Marion’s boutique in Question 1.1 in Chapter 1 extract a trial balance

as at 31 January 198S.

Answer 2.1

Trial balance of Marion’s boutique at 31 January 1985

Bank

Wholesale Clothing
Sales

Rent

Capital

Furniture and fittings
Purchases
Purchases returns
Good Supplies Ltd
Electricity
Stationery

Question 2.2

Dr. Cr.
£ £
1,955
4,745
1,100
4,000
3,000
3,700
50
1,050
50
40
£9,845 £9.,845

From the books of D. Margrave in Question 1.2 in Chapter 1 extract a trial balance as at

30 September 1985.

Answer 2.2

Trial balance of D. Margrave at 30 September 1985

Cash

Capital

C. Russell
Purchases
Electricity
Sales

Wages

Office furniture
P. Lynch
Advertising

Dr. Cr.
£ £
515
150
350
350
40
645
80
60
50
50
£1,145 £1,145
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3 Trading and Profit and

Loss Accounts

3.1

3.2
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Explanation

The trading and profit and loss account is prepared to calculate and show in detail
the profit or loss for an accounting period of the business. It is divided into two
sections (or accounts) — the trading section and the profit and loss section.

The trading section

The trading section shows the gross profit, which is the difference between sales
and cost of goods sold or cost of sales. The sales figure will be the value of sales
to the customers of the business, as posted to the credit of the sales account in
the ledger and transferred to the trading and profit and loss account. The value of
any goods returned by customers, as posted to the sales returns account, will be
deducted from the total sales figure to arrive at a net sales figure.

The cost of goods sold requires further consideration. If a business sells all the
stock which it purchases during a trading period, then the cost of goods sold is the
amount paid for purchases of goods for resale. Where, however, the business has
stock remaining at the end of a period, we must deduct this closing stock valuation
from our purchases to arrive at a cost of goods sold figure. We now have

Purchases X
less closing stock (x)

Cost of goods sold T

The closing stock of a business is available to sell in the following accounting
period and we must therefore include the closing stock figure in the following
period’s cost of goods sold calculation. The calculation then would be for the
next period’s cost of goods sold figure

Opening stock (last period’s closing stock) X
add purchases X
sub-total S/T
less closing stock x)
Cost of goods sold T

We have not yet examined the purchases figure. The purchases figure will be
the value of purchases of goods for resale from suppliers, less the value of any
goods returned to those suppliers. Additionally, it should include the cost of
bringing those goods to their existing state and condition; a common example of
such a cost would be carriage inwards.



3.3

3.4

The profit and loss section

The profit and loss section shows the net profit of the business, which is defined
as

gross profit
add other income (e.g. rents, commission)

less other expenses (not included in cost of goods sold)

Other expenses will be selling and administrative expenses.

Preparation of trading, profit and loss account

We have seen how the gross profit and net profit are calculated, which it is import-
ant to understand. However, you must also understand the mechanics of the
preparation of a trading and profit and loss account using the double-entry system
of book-keeping. It is important to note that this account is part of the double-
entry system.

We have already seen that we need the values from the following accounts to
calculate gross and then net profit: sales, purchases, carriage inwards, income
accounts and expense accounts. The rule is that we must transfer to the trading
and profit and loss account the balance on all expense and income accounts —
i.e. all accounts which are not asset or liability accounts (look back to Section 1.2
if you are not clear on these definitions).

We can now illustrate how two of these accounts will now appear in the ledger,
using the example in Chapter 1.

Purchases
1985 £ 1985 £
Dec. 8 T. Smith 400 Dec. 31 Trading account 840
Dec. 12 R. Gray 300
Dec. 19 B. Coals 140
£840 £840
Electricity
1985 £ 1985 £
Dec. 19 Bank 130 Dec. 31 Profit and loss account 130
£130 £130

From the above it can be seen that accounts with debit balances will appear as a
debit entry on the trading and profit and loss account. Accounts with a credit
balance will appear as a credit entry on the trading and profit and loss account.

Finally, we must consider the entries to record the closing stock valuation. The
entry which you may find easier to remember rather than work out the reasons
for is

Dr. Stock
Cr. Trading account

We debit stock, because we want to record an asset on the books (remember debit
an asset to increase it). The explanation of the credit entry is that by recognising

17
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the closing stock we are reducing our cost of goods sold and thus increasing our
income. Our stock account will then appear as follows:

Stock

£
Dec.31 Trading account 100

The debit balance remains on the stock account until the end of the next trading
period, when it is transferred to the debit of that year’s trading and profit and loss
account.

When the net profit has been calculated, which will be the balance on the profit
and loss account after posting all expenses and income, we transfer that profit to
the owner’s capital account. The entry is then

Dr. Profit and loss account
Cr. Capital account

Other trading account expenses

So far we have recorded in the trading account the cost of purchases as adjusted
by the opening and closing stocks, and in the case of a simple trading business
this will be all that is entered in that account. However, any costs incurred in
bringing goods into a saleable condition and to their place of sale should be charged
to the trading account. Such items will include carriage inwards, warehouse costs
and packing costs. It is important, therefore, to know the type of business for
which we are preparing accounts, in order to decide whether expenses are (a)
trading account items, which will be included in the cost of sales calculation and
affect gross profit, or (b) profit and loss account items, which affect only the net
profit.

We shall now work through some examples, which you should study carefully:
in particular, note the differences between the alternative presentations.

Worked examples

Example 3.1

From the trial balance produced in Section 2.3 prepare a trading and profit and loss account
of B. Brown for the year ended 31 December 1985. Closing stock is £200.

Solution 3.1

Trading and profit and loss account of B. Brown for year ended 31 December
1985

£ £
Purchases 840 Sales 2,600
Packing 140 Closing stock 200
Gross profit ¢/d 1,820
£2.,800 £2,800




Rent 40 Gross profitb/d 1,820

Electricity 130
Net profit (transferred to capital account) 1,650
£1,820 £1,820

Alternatively, we could prepare the account in vertical format to make it more
readable for non-accountants. It would then appear as follows:

Trading and profit and loss account of B. Brown for year ended 31 December
1985

£

Sales 2,600
Purchases 840
less closing stock 200

640
Packing paper _140
Cost of goods sold 780
Gross profit 1,820
less
Rent 40
Electricity 130 170
Net profit £1,650
Example 3.2

From the following trial balance, taken from the books of G. Green at 31 December 1985,
prepare a trading and profit and loss account. Closing stock at 31 December 1985 is £1,000.

Dr. Cr.
£ £
Sales 6,000
Sales returns 500
Capital 7,000
Motor vehicle 5,700
Purchases 3,500
Purchases returns 400
Carriage inwards 610
Carriage outwards 405
Rates 1,000
Insurance 40
Debtors 500
Drawings 300
Creditors 300
Bank 45
Opening stock 1 January 1985 1,100

£13,700 £13,700
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Solution 3.2

Trading and profit and loss account of G. Green for year ending 31 December 1985

£

Sales (£6,000-500) 5,500
Opening stock 1,100
Purchases (£3,500-400) 3,100
add Carriage inwards 610 3,710

4,810
less Closing stock 1,000
Cost of goods sold 3,810
Gross profit 1,690
less
Carriage outwards (1) 405
Rates 1,000
Insurance 40 1,445
Net profit (transferred to capital) £245
NOTE

(1) Carriage outwards is a selling expense and therefore appears in the profit and
loss section of the account.

3.7 Further exercise
Question 3.1

From the following trial balance, taken from the books of Darren Guymer, draw up a
trading and profit and loss account for the year ending 30 November 1985.

Dr. Cr.
£ £

Capital 50,000
Cash at bank 6,000
Cash in hand 104
Debtors 15,000
Creditors 14,150
Stock (1 Dec. 1984) 40,000
Motor van 8,000
Sales 210,000
Purchases 194,621
Purchases returns 610
Sales returns 650
Carriage 150
Carriage outwards 410
Telephone 805
Insurance 610
Sundry expenses 410
Wages 8,000

£274,760 £274,760

Stock at 30 November 1985 was £74,100
Answer 3.1

Gross profit  £49,289
20 Net profit £39,054



4 Balance Sheet

4.1 Purpose

We saw in Chapter 3 that the trading and profit and loss account is prepared to
show the profit or loss of the business for an accounting period. The balance sheet
is prepared to show the financial position of the business at the end of that
accounting period. To achieve this we show the amounts on the asset and liability
accounts in the books of the business. You should note that it is not part of the
double-entry system; the balances on the asset and liability accounts are carried
forward to the next accounting period, as illustrated in Section 1.5 for the bank
account. Before preparing the balance sheet, all of the asset and liability accounts
should be balanced off as illustrated there.

4.2  Preparation of the balance sheet

In order to prepare a balance sheet in good format, we must consider the asset
and liability accounts under certain headings and terms which we must under-
stand and be able to define. We shall now look at those terms.

(a) Capital

We learned in Section 1.2 that capital is a liability account and, in the widest
sense of the word, it is a liability representing the liability of the business to the
owner. In other words, it is the owner’s investment in the business. Because of
this latter definition, often, when we talk about liabilities, we mean only liabilities
to third parties and not the owner’s capital account.

As we have already seen, an entry is made to the capital account when the
owner introduces capital into the business. In Chapter 3 we saw another instance
requiring a posting to the capital account — that is, when the profit and loss
account is closed and the balance is transferred to the owner’s capital account.
The only other occasion when this account is posted to is when the owner with-
draws cash or stock from the business. If cash is withdrawn, the entry is

Dr. Capital (to reduce the liability account)
Cr. Cash (to reduce the asset cash)

If stock is withdrawn, the entry is

Dr. Capital (to reduce the liability account)
Cr. Purchases (to reduce the expense)
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An alternative to making the posting direct to the capital account is to debit a
drawings account and to transfer the balance from the drawings account at the
end of the accounting period to the capital account.

It is worth noting that the three instances mentioned above are the only
occasions where entries are made to the capital account. In summary, they are:
(a) when the owner introduces capital; (b) when the profit and loss account is
closed by transferring the balance (net profit) to the capital account; (c) when the
owner withdraws cash or stock from the business.

(b) Current Liabilities

Current liabilities represent amounts payable within a period of 12 months from
the balance sheet date. They will include bank overdrafts, since banks reserve the
right to demand immediate payment.

(c) Long-term Liabilities

Long-term liabilities represent amounts payable more than 12 months after the
balance sheet date.

(d) Fixed Assets

Fixed assets are those assets which are held for continuing use in the business with
a view to profits being earned from that use. Examples are premises, fixtures and
fittings, and motor vehicles.

(e) Current Assets
We can define current assets as assets which we intend to turn into cash within a

relatively short period of time or which are already cash, including bank balances.
Examples are stock, debtors and bank balances.

(f) Working Capital or Net Current Assets

Working capital is defined as current assets less current liabilities, and, as will be
explained in Chapter 20, is an important figure in comprehending and interpreting
balance sheets.

(g) Net Assets

Net assets represent the difference between total assets and liabilities to third

parties. They will therefore be equivalent to fixed assets plus working capital.
4.3  Balance sheet equation

Because we have followed the double-entry system of book-keeping as described

in Chapter 1, if our books are arithmetically correct, the following equation will
be true:
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4.5

capital + liabilities = assets
or, rewritten,

capital = assets less liabilities

While we follow the double-entry system of book-keeping this equation will
always be true. In the worked examples which follow you should notice how it is
true for those answers. Also compare and note the differences between the two
formats.

Capital and revenue expenditure

We have so far mentioned that expense account balances are transferred to the
profit and loss account and that asset account balances are carried forward to the
next accounting period. Since the profit calculation will change if we classify an
item wrongly as either an expense or an asset, the importance of correct classifi-
cation cannot be over-emphasised. In order that the account be treated correctly,
we must accurately classify initial expenditure as either capital or revenue expen-
diture.

Capital expenditure is the money spent on buying fixed assets or adding to
their value. Revenue expenditure is the money spent on running the business on a
day-to-day basis. For example, building an extension on to an existing building is
capital expenditure; repairing the roof would be revenue expenditure. Capital
expenditure is debited to a fixed asset account which appears on the balance
sheet, whereas revenue expenditure is debited to an expense account which is
transferred to the profit and loss account.

Worked examples

Example 4.1

From the trial balance produced in Section 2.3 prepare a balance sheet for B. Brown as at
31 December 1985.

Solution 4.1

Balance sheet of B. Brown as at 31 December 1985

£ £
Capital balance 1 Jan. 1985 5,000 Fixed assets
add net profit 1,650 Furniture and fittings 500
Capital balance 31 Dec. 1985 6,650 Motor van 1,000
1,500
Current liabilities Current assets
Creditors 500 Stock 200
Debtors 700
Bank 4,750 5,650
£7,150 £7,150
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Alternatively — again for better presentation and for the benefit of non-account-
ants having to read balance sheets — we could prepare it in a vertical format.

Balance sheet of B. Brown as at 31 December 1985

Fixed assets £
Furniture and fittings 500
Motor van 1,000

1,500

Current assets
Stocks 200
Debtors 700
Bank 4,750

5,650

less Current liabilities
Creditors 500

Working capital 5,150

Net assets £6,650

Financed by
Capital balance 1 Jan. 1985 5,000
add net profit 1,650

Capital balance 31 Dec. 1985 £6,650

Example 4.2

From the trial balance given in Example 3.2 of Chapter 3, prepare a balance sheet for
G. Green as at 31 December 1985.

Solution 4.2

Balance sheet of G. Green as at 31 December 1985

Fixed assets £
Motor vehicle 5,700
Current assets
Stock 1,000
Debtors 500
Bank 45
1,545
less Current liabilities
Creditors 300
Working capital 1,245
£6,945
Capital balance 1 Jan. 1985 7,000
add net profit 245
7,245
less drawings 300

Capital balance 31 Dec. 1985 £6,945




4.6 Further exercises

Question 4.1

From the trial balance given in Question 3.1 of Chapter 3 prepare a balance sheet of Darren
Guymer at 30 November 1985.

Answer 4.1

Fixed assets £8,000
Current assets £95,204
Current liabilities £14,150
Capital £89,054

Question 4.2

(a) Explain the meaning of each of the following terms:
(i) ‘capital expenditure’;

(ii) ‘revenue expenditure’. [3 marks]

(b) Give two examples of each type of expenditure given in (a) above. [4 marks]
(c) Devise a suitable example to explain the effect on the final accounts of incorrectly
classifying an item of capital expenditure as revenue. [4 marks]

(d) Explain the significance to the preparation of final accounts of being able to distinguish
between capital and revenue expenditure. [4 marks]

(AEB)

Answer 4.2

(a) Refer to Section 4.4.

(b) (i) Premises, motor van; (ii) wages, electricity.

(c) Refer to Section 4.4. For example, if the cost of a new motor van were treated
as an expense, this would reduce profit by that amount. When it is treated
correctly as capital expenditure, it is shown as an asset in the balance sheet
and has no effect upon the net profit.

(d) Refer to Section 4.4 and (c) above.
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5 Gash Book and Cash

Discounts

5.1

26

Cash book

The cash book in manual systems and some computerised systems is a book com-
bining the cash account and the bank account. (Other uses will be discussed in
Chapter 7.) Refer back to Section 1.4, where a bank account was illustrated, and
compare the cash and bank accounts with the illustration below, where we have a
separate column for cash and bank.

Cash book
Cash Bank Cash Bank
£ £ £ £
Jan.1 Balance b/d 100 5,000 Jan.8 Wages 150
Jan. 6  Sales 800 Jan.9 Rent 600
Jan.7 D. Taylor 510 Jan. 11 J. Small 750
Jan. 15 Balances c/d 750 4,160
900 5,510 900 5,510

Jan. 16 Balance b/d 750 4,160

Make sure that you understand this illustration before proceeding. The entries
to the credit columns for cash and bank represent payments by cash and cheque,
respectively. The entries to the debit columns represent receipts of cash and pay-
ments direct into the bank account by cheque or other means. The balances
represent the cash held by the business and the balance at the bank.

We can now go on to consider the entries where cash is paid into the bank
or withdrawn from the bank.

Withdrawal of cash from the bank will increase our cash balance and decrease
our bank balance, and the entry is

Dr. Cash account
Cr. Bank account

Cash paid into the bank will increase our bank balance and decrease our cash
balance and the entry is

Dr. Bank account
Cr. Cash account

We can illustrate this by continuing our previous example and making an entry to
record the paying in of £500 to our bank account from our cash in hand.



Cash book

Cash  Bank Cash  Bank
£ £ £ £
Jan. 16 Balance b/d 750 4,160 Jan. 17 Bank 500
Jan. 17 Cash 500 Jan. 18  Balance b/d 250 4,660
750 4,660 750 4,660

Jan. 18 Balance b/d 250 4,660

5.2  Cash discounts

Cash discounts fall into two categories — discounts allowed and discounts received.
Discounts allowed occur where we accept a payment from a customer of a lesser
amount than the amount due, because the customer has paid us promptly. Dis-
counts received occur where a supplier allows us to pay a lesser amount to him
than the amount due, because we have paid him promptly.

There are two reasons why businesses allow discounts. First, they improve
their own cash flow — i.e. prevent it going into an overdraft situation — or release
funds for investment elsewhere. Second, they reduce the possibility of bad debts:
the more quickly payments are received the less chance there is of debtors becom-
ing unable to pay.

When a business allows a discount, it nonetheless needs to reduce the debtor’s
account by the full amount of the debt being settled. In addition to the debit to
cash or bank and the credit to the debtor’s account, the following entry is neces-
sary to completely eliminate the balance from the debtor’s account:

Dr. Discounts allowed account
Cr. Debtor’s account

At the end of the accounting period the balance on the discounts allowed account
is transferred to the profit and loss account and treated as an expense of the
business, thus reducing the profit. Conversely, when a business receives a discount,
the creditor’s account needs to be reduced by the full amount of the debt due and
the following entry then becomes necessary:

Dr. Creditor’s account
Cr. Discounts received account

At the end of the accounting period the balance on the discounts received account
is transferred to the profit and loss account as other income and increases the
profit.

5.3 Cash discounts in the cash book

Because of the frequency with which discounts allowed and received occur, we
do not usually make separate entries in our books every time they occur. The
usual method is to add an additional column to the cash book illustrated in
Section 5.1. On the debit side we create a column ‘discounts allowed’ and enter
amounts into this column as they occur. When the credit entry is made to the
debtor’s account, we post the full amount of the debt —i.e. the cash received
plus the discount allowed to the credit of the debtor’s account. On the credit
side we create a column ‘discounts received’ and enter amounts into this column
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as they occur. When the debit entry is made to the creditor’s account, we post the
full amount of the debt — i.e. the cash paid plus the discount received to the debit
of the creditor’s account.

The discount columns are not part of the double-entry system. In so far as dis-
counts allowed are concerned, we have so far debited our cash or bank account
with the amount actually received and credited the debtor with the full amount
due. It now remains to post the discount to the debit of the discounts allowed
account, and this we do in one total amount at the end of a period. Similarly, we
must total discounts received and post these to the credit of the discounts received
account. This completes the double entry, which we can summarise for cash
received from debtors as

Dr. Bank account (with amount received)
Dr. Discounts allowed account (with the discount allowed)
Cr. Debtor’s account (with the amount received plus the discount)

Similarly, we can summarise the entries for payment to creditors as
Dr. Creditor’s account (with the amount paid plus the discount allowed)

Cr. Discount received account (with the amount of the discount received)
Cr. Bank (with the amount actually paid)

Petty cash

In businesses other than the very small ones it becomes advantageous to maintain
a petty-cash account in addition to the cash and bank accounts. The benefits are
as follows: (a) the petty-cash duties can be delegated to a junior member of staff;
(b) the main cash book does not become over-large because of a large quantity of
small items; (c) an analysed petty-cash book can be maintained so that totals only
for each category of expense will be posted to the various expense accounts — e.g.
postage, stationery, etc.

Where such a book is maintained, the recommended system to operate is the
imprest system. Under this system a float is established to meet requirements for
the following period. At the end of that period the petty cashier is reimbursed
with the amounts actually paid out, which restores the petty cash balance to the
original float. From the control point of view, this system has the advantage that
at any one time the total value of vouchers which have not been reimbursed plus
the petty-cash balance will equal the agreed float.

Worked examples

Example 5.1

The cashier of your firm has been absent owing to illness and no entries have been made in
the cash book for the period 24-30 November. The cash book has three columns — for dis-
counts, cash and bank.

On 23 November the balances in the cash book were: cash in hand £86 and bank over-
draft £380. There were no cash discount items in the cash book at that date. The following
additional information is available:



Nov. 24 Paid cash for stationery £8 and stamps £11

25 Sent L. Fairclough a cheque for £280 and took £20 cash discount

26 Received and paid into bank a cheque from A. Tatlock £432 accepted in full
settlement of his debt of £470

28 Banked a cheque from E. Yates £506 on account and sold goods £262 on credit
to K. Barlow

29 Cashed a cheque £42 for office use

30 Cash sales for the period 24-30 November, £544, paid direct to bank

At the start of business on 1 December there was £59 in the firm’s cash box.

REQUIRED

(a) Preparation of the cash book for the period 24-30 November, bringing down the
balances to 1 December. [10 marks)

(b) An explanation of why you may be dissatisfied with the correctness of the cash balances.
[1 mark]

(c) An explanation of where discount allowed and discount received will be posted from

the cash book and how each of them will affect the net profit calculation (2 marks)
[2 marks)
Solution 5.1
(@
Cash book
Discount Cash Bank Discount  Cash Bank
£ £ £ £ £ £
Nov. 23 Balance b/d 86 Nov. 23 Balance b/d 380
Nov. 26 A. Tatlock 38 432 Nov. 24  Stationery
Nov. 28 E. Yates 506 Postage 11
Nov.29 Bank 42 Nov. 25 L. Fairclough 20 280
Nov. 30 Sales 544 Nov. 29 Cash 42
Nov. 30 Balance c/d 109 780
38 128 1,482 20 128 1,482
Dec. 1 Balance b/d 109 780

(b) Since at 1 December there is only £59 in the cash box either £50 (£109 — £59)
has been spent and not recorded or it has been misappropriated.

(c¢) The £38 representing discount allowed will be posted to the debit of the dis-
counts allowed account and will eventually be transferred to the profit and
loss account as an expense, thus reducing the net profit. The £20 representing
discounts received will be posted to the credit of the discounts received
account and will eventually be transferred to the profit and loss account as an
income item, thus increasing the net profit.

Example 5.2

The cashier of the firm in which you are employed has been absent through illness and no
entries have been made in the three-column cash book for the period 25-31 January. On
1 February you are instructed to bring the entries up to date. You obtain the following
information.

(a) At the close of business on 24 January the cash book balances were: office cash £156.70,
bank £1,569.40 (debit). For the period 1-24 January the entries made in the discount
allowed and discount received columns totalled £117.60 and £83.30, respectively.
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(b) Some credit customers have settled their accounts by cheque and the cheques have been
paid into the bank:

Amount owed Cash discount deducted
£
25 January G. Long 264.00 2% per cent
28 January D. Fender 276.00 2% per cent
30 January B. Keeper 148.00 S per cent

(c) Payments made out of office cash:

£
25 January Travelling expenses 28.50
28 January Postage stamps 12.60
29 January Stationery 18.20

(d) Payments by cheque to settle trade creditors’ accounts:

Amount owed Cash discount deducted

£
25 January N. Morris 1,065 .40 Nil
26 January F. Talbot 616.00 2% per cent
30 January J. Ford 419.50 Nil

(e) Other payments made by cheque:

£
26 January Telephone bill 175.30
26 January Repairs to typewriter 43.40
29 January Wages and salaries 1,360.60

(f) Cash sales are always paid intact into bank at the end of the day. The total for 25-31
January, which you can enter in one amount, was £3,600.45.

(g) At the start of business on 1 February there is £87.40 in the firm’s cash box.

(h) A statement received from the bank shows a favourable balance of £2,591.65 at 31
January. There are no items in the statement of which you are not already aware, but
you notice that the cheque sent to J. Ford on 30 January has not yet been cleared.

You are asked:

(1) to write up the firm’s cash book for the period 25-31 January and carry down the
balances;

(2) to say whether or not you are satisfied with the correctness of the cash and bank
balances, giving your reasons.

Note: You are not required to make any postings to the ledger.
(OLE)

Solution 5.2

(1)

(see the top of page 31)

(2) We can be satisfied with the bank balance of £2,591.65, since when J. Ford’s
cheque is cleared, the balance will be reduced to £2,172.15, exactly as shown
in the cash book. We cannot be satisfied with the cash balance, since at
£97.40 it is £10 more than the cash in the cash box and £10 has therefore
been spent and not recorded, or misappropriated.



Cash book

Discounts Cash Bank Discounts Cash Bank
£ £ £ £ £ £
Jan.24 Balancesb/d 117.60 156.70 1,569.40 Jan.24 Balance b/d 83.30
Jan.25 G.Long 6.60 257.40 Jan.25 Travelling
expenses 28.50
Jan.28 D. Fender 6.90 269.10 Jan.26 N. Morris 1,065.40
Jan.30 B. Keeper 7.40 140.60 Jan.26 F. Talbot 15.40 600.60
Jan.31 Sales 3,600.45 Jan.26 Telephone 175.30
Jan.26 Equipment
and repairs 43.40
Jan.28 Postage 12.60
Jan.29  Stationery 18.20
Jan.29 Wagesand
salaries 1,360.60
Jan.30 J.Ford 419.50
Jan.31 Balance ¢/d 97.40 2,172.15
138.50 156.70 5,836.95 98.70 156.70 5,836.95
Feb. 1 Balance b/d 97.40 2,172.15
Example 5.3
P. Black is in business as a retailer. On 1 May 1983 his balance sheet disclosed the following
information:
Liabilities £ Assets £
Creditor W. Jones 410 Cash in hand 50
Capital 31,100 Cash at bank 2,050
Stock 1,410
Premises 28,000
31,510 31,510

The following transactions took place during the month of May 1983:

May £
2 Bought goods on credit from W. Jones 175
Bought on credit new shop fittings from Shopfitters Ltd 1,000
3 Bought stock on credit from R. Wilkinson 450
6  Returned goods to W. Jones 34
Paid W. Jones by cheque 410
Cash sales to date 700
11 Personal drawings in cash 250
13 Banked 400
Bought stationery for business use and paid cash 40
Paid R. Wilkinson by cheque 450
Cash sales to date. Banked immediately 540
Calculations indicated that a sum of money had been stolen from the till 50

(@)  Open all necessary ledger accounts, including accounts for cash and bank (a two-column
cash book will be accepted instead of separate accounts), enter the opening balances
and record the above transactions.
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(b) Extract a trial balance on 14 May 1983.

L)
Solution 5.3
(a)
Cash book
Cash Bank Cash Bank
£ £ £ £
May 1 Balance b/d 50 2,050 May 6 W.Jones 410
May 6 Sales 700 May 11  Drawings 250
May 13 Cash 400 May 13 Bank 400
May 13 Sales 540 May 13  Stationery 40
May 13  Sales 50 May 13 R. Wilkinson 450
May 13  Stolen money 50
May 14 Balance c/d 60 2,130
800 2,990 800 2,990
May 14 Balance b/d 60 2,130
Purchases
£ £
May 2 W.Jones 175 May 14 Trading account 625
May 3 R. Wilkinson 450
625 625
W. Jones
£ £
May 6 Purchases returns 34 May 1 Balance b/d 410
May 6 Bank 410 May 2 Purchases 175
May 14 Balance c/d 141
585 585
May 14 Balance b/d
Shop fittings
£ £
May 2 Shopfitters Ltd 1,000 May 14  Balance ¢/d 1,000
1,000 1,000
May 14  Balance b/d 1,000
Shopfitters Ltd
£ £
May 14 Balance ¢/d 1,000 May 2 Shop fittings 1,000
1,000 1,000
May 14  Balance b/d 1,000



R. Wilkinson

£ £
May 13 Bank 450 May 3 Purchases 450
450 450
Purchases returns
£ £
May 14  Trading a/c 34 May 6 W.Jones 34
34 34
Sales
£ £
May 14  Trading a/c 1,290 May 6 Cash 700
May 13 Bank 540
May 13  Cash 50
1,290 1,290
Drawings
£ £
May 11  Cash 250 May 14  Capital 250
250 250
Stationery
£ £
May 13 Cash 40 May 14  Profit and loss a/c 40
40 40
Capital
£ £
May 14 Drawings 250 May 1 Balance b/d 31,100
May 14  Balance c/d 30,850
31,100 31,100
May 14 Balance b/d 30,850
Stock
£ £
May 1 Balance b/d 1,410 May 14 Trading a/c 1,410
1,410 1,410
Stolen money
£ £
May 13 Cash 50 May 14  Profit and loss account 50
50 50
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Premises

May 1

Balance b/d

May 28 Balance b/d

£ £
28,000 May 14  Balance ¢/d 28,000
28,000 28,000
28,000

(b) Trial balance of P. Black as at 14 May 1983

Cash

Bank
Purchases

W. Jones

Shop fittings
Shopfitters Ltd
Purchases returns
Sales

Stolen money
Stationery
Capital
Opening stock
Premises

Question 5.1

Dr. Cr.
£ £
60
2,130
625
141
1,000
1,000
34
1,290
50
40
30,850
1,410
28,000
£33,315 £33,315

Further exercises

The Oran Company keeps very little cash in its office. All cheques and cash received are
banked immediately. All payments are made by cheque, except that certain small payments
of £20 or less may be made from petty cash. A main cash book is kept with two columns on
each side. One column on each side is used to record cash discounts, while the other is used
to keep a record of the bank account. Small payments are recorded in a petty-cash book
with four analysis columns: postage, travelling, sundry expenses, and small purchases.

(a) From the following information write up the firm’s bank cash book and petty-cash
book for the week ended 15 December 1982.

December £
10  Balance at bank 410.27
Petty cash in hand 7.36
Vouchers held by petty cashier 92.64
Petty cashier presented vouchers to main cashier and obtained a refund
Postage stamps 10.00
Banked cheques received from
P. Winters (cash discount £2.24) 216.18
R. Makeson (cash discount £3.16) 317.17
T. Soames (cash discount £nil) 171.00
11 A member of the company drew foreign currency 100.00
The bank charged for the service 2.84
12 Director’s fare to London 18.60



13 The following accounts were paid by cheque:
Leon Manufacturing Ltd. (cash discount £4.60)
Palton Traders Ltd. (cash discount £2.04)
14  Window cleaner paid

Postage stamps purchased

15  Small item of stock purchased for cash
Drew cheque for wages
P. Winters’ cheque returned R/D
Errand boy’s fare

225.40
174.16
5.00
10.00
15.81
200.00

1.70

(b) A bank statement was received on 17 December 1982 showing a balance at bank of
£277.56. From the information given, what may account for the difference between

the books and the bank statement?

(c) Why is it necessary to keep a separate column for purchases of stock made from
petty cash?

(L)
Answer 5.1
(a)
Cash book
Discount Bank Discount Bank
£ £ £ £
Dec. 10 Balance b/d 410.27 Dec. 10 Petty cash 92.64
Dec. 10 P. Winters 2.24 216.18 Dec. 11  Travel advance 100.00
Dec. 10 R. Makeson 3.16 317.17 Dec. 11  Bank charges 2.84
Dec. 10 T. Soames 171.00 Dec. 13 Leon Manufacturing 4.60 225.40
Dec. 13 Palton Traders 2.04 174.16
Dec. 15 Wages 200.00
Dec. 15 P. Winters 216.18
Dec. 15 Balance c/d 103.40
5.40 1,114.62 6.64 1,114.62
Petty-cash book
Receipts  Date Details Total  Postage Travelling Sundry Purchases
£ £ £ £ £
7.36 Dec. 10 Balance b/d
92.64 Dec. 10 Bank
Dec. 10  Postage 10.00 10.00
Dec. 12 Travelling 18.60 18.60
Dec. 14 Window cleaning 5.00 5.00
Dec. 14 Postage 10.00 10.00
Dec. 15 Purchases 15.81 15.81
Dec. 15 Travelling 1.70 1.70
61.11 20.00 20.30 5.00 15.81
Dec. 15 Balance c/d 38.89
100.00 100.00
38.89 Dec. 15 Balance b/d

(b) Refer to Chapter 6. Difference of £174.16 could represent Palton Traders Ltd
cheque unpresented.
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(c) Such items representing purchases of goods for resale will be posted to the

purchases account and not any other expense account.

Question 5.2

Fred Ogden opened a hardware shop on 1 April 1984. He had £1,000 cash, of which he
placed £900 into a bank account. The transactions for the shop during the month of April

were:

April 3

11
14

18

19
21

23
24
25
28

Purchased goods from T. Duke on credit
Paid half year’s rent by cheque

Cash sales for week

Cash drawings by J. Jones

Paid cash into bank

Purchased goods from B. Prince on credit
Purchased goods from R. Knight on credit
Paid T. Dukes a/c by cheque in full settlement
Cash sales for week

Paid cash into bank

Cash drawings by J. Jones

Purchases from B. Prince on credit

Paid B. Prince by cheque

Paid R. Knight by cheque, on account

Sales to J. Lord on credit

Cash sales for week

Paid cash into bank

Purchases from R. Knight on credit

Bought cash register from ABC Ltd for credit

J. Lord settled his account by cheque (less 10 per cent discount)

Cash sales for week
Paid into bank
Drawings by cheque — J. Jones

£p
150.00
600.00
685.40
100.00
500.00
75.50
115.00
135.00
732.80
600.00
100.00
125.00
75.50
50.00
30.00
483.70
500.00
176.30
172.00
?
572.50
700.00
200.00

Note: Candidates should calculate the amount of the cheque paid by J. Lord on April 25.

From this information you are required to

(a) record the appropriate transactions in a three-column cash book, and bring down the
balances as at 30 April 1984,

(b) write up the ledger account of T. Duke, B. Prince and J. Lord and bring down the
balances as at 30 April 1984.



Answer 5.2

(a)
Cash book
Discount Cash Bank Discount Cash Bank
£ £ £ £ £ £
April 1 Capital 100.00 900.00 April 4 Rent 600.00
April 7 Sales 685.40 April 7 Drawings 100.00
April 7 Cash 500.00 April 7 Bank 500.00
April 14 Sales 732.80 April 11 T.Dukes 15.00 135.00
April 14 Cash 600.00 April 14 Bank 600.00
April 21 Sales 483.70 April 14 Drawings 100.00
April 21 Cash 500.00 April 18 B. Prince 75.50
April 25 J.Lord 3.00 27.00 April 18 R. Knight 50.00
April 28  Sales 572.50 April 21 Bank 500.00
April 28 Cash 700.00 April 28 Bank 700.00
April 28 Drawings 200.00
April 30 Bal ¢/d 74.40 2,166.50
3.00 2,574.40 3,227.00 15.00 2,574.40 3,227.00
May 1 Balance b/d 7440 2,166.50
(b)
T. Duke
£
April 11 Bank 135.00 April 3 Purchases 150.00
April 11  Discount received 15.00
150.00 150.00
B. Prince
£
April 18 Bank 75.50 April 8 Purchases 75.50
April 21 Balance c/d 125.00 April 14 Purchases 125.00
200.50 200.50
April 30 Balance b/d 125.00
J. Lord
£
April 19 Sales 30.00 April 25 Bank 27.00
April 25 Discount allowed 3.00
30.00 30.00
Question 5.3
(a) For what purposes does a business keep a petty-cash book? [3 marks]
(b) Explain the imprest system of keeping petty cash. [4 marks]
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(c) Explain how the petty-cash book would be balanced at the end of the accounting period.
Where would the petty-cash book closing balance be shown at the end of the financial
year? [3 marks]

(d) Explain what happens to the total of the postage and stationery column. [2 marks)

(e) Explain what happens to the items in the column headed Ledger Accounts.  [3 marks]

Answer 5.3

(a) Refer to Section 5.4. To record small payments.

(b) Refer to Section 5.4. Reimbursing amounts paid to restore cash held to agreed
float.

(c) Refer to Answer 5.1. Current asset on balance sheet.

(d) Debited to the expense account for postage and stationery.

(e) Debited to the respective ledger accounts.



6 Bank Reconciliation

6.1 Introduction

The cash book of a business shows the balance which the business considers it has
as cash at the bank. In the same way as an individual receives a bank statement
and compares it with his own records, in whatever form they may be, so a busi-
ness must make that same comparison. The object of this chapter will be to dis-
cover differences between the balance shown on the bank statement and the
balance according to the business’s own records.

6.2 Types of differences

(a) Error

Errors may be either calculation errors or errors due to failure to record items or
recording them twice. Under this heading we also include standing order payments
which we have instructed the bank to make but which we have not recorded in
our books.

(b) Bank Charges and Interest

Bank charges and interest will be entered by the bank on our account with them,
and if we do not make an entry in our books for these amounts, then this will
result in a difference.

(¢) Timing

When we send a cheque to a supplier, we enter the amount immediately in our
cash book. However, allowing time for the supplier to receive the cheque and pay
it into his bank account and then for it to find its way to our bank will mean that
our account at the bank will not be debited for at least a few days and often
much longer. Similarly, there will be a delay, although usually less, from the time
we enter cheques received in our cash book to the time they are credited to our
account by the bank.

(d) Dishonoured Cheques

When we pay a cheque into our bank account, the bank will credit our account
the next day and then proceed to collect the value of that cheque from the bank
of our customer who sent us the cheque. If because our customer has insufficient
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funds in his account or for some other reason the bank will not honour the cheque,
then our bank will debit our account with the value of the dishonoured cheque,
since it has previously credited our account and is now unable to collect the
money.

Identifying the differences

In comparing the cash book with the bank statement we must remember that cash
at bank is an asset to the business and as such we will debit the account to increase
the asset and credit it to reduce it. Our bank statement represents our personal
account in the books of the bank and therefore the entries will be the opposite
to those in our cash book. For example, cheques received from our customers are
debited to the bank account in our books but the bank credits our account in
their books. To identify differences, we must therefore tick the items appearing
as debits in our cash book and credits on our bank statements. Similarly, we can
tick items appearing as credits in our cash book and debits on our bank statement.

Preparing the reconciliation

There are three methods of preparing or writing out the reconciliation:

(i) Reconcile the bank balance per the bank statement to the cash book balance.
(ii) Reconcile the cash book balance to the bank balance per the bank statement.
(iii) Adjust both balances as appropriate to a corrected balance, which will be the
same in both cases — i.e. corrected cash book balance and corrected bank
statement balance.

Unless the examination question instructs you to do otherwise you should
follow method (iii). Using this method, we must add to our balance in the cash
book any receipts not recorded in the cash book or recorded at less than the
correct amount. We must deduct from this balance any charges or payments not
recorded in our books or recorded at less than the correct amount. This calcula-
tion will give us a corrected cash book balance. We must then take the balance per
the bank statement and add to it any receipts not recorded on the bank statement.
We must then deduct from this any payments which we have made and entered
in our cash book but which have not yet been debited to our account at the bank.
The amount which we arrive at should then agree with the corrected cash book
balance above.

Worked examples

Example 6.1

Jim Duddy received a statement from his bank at 30 April 1983, showing a balance of
£1,420 in his favour. The differences between his cash book and bank statement balances
at 30 April are given below.

(1) Anamount of £421, paid into bank on 29 April, has not been entered by the bank.

(2) Two cheques drawn by Duddy were not presented for payment until after 30 April:
C. Walker £206, P. Higgins £39.



(3) The bank made standing order payments, amounting to £168, on behalf of Duddy. This
had not been recorded in the cash book.

(4) On 23 April 1983 Duddy received from V. Bennett a cheque for £306, which he paid to
bank on the same day. The bank statement showed that this cheque was dishonoured on
28 April 1983.

(5) On 24 April Duddy paid into bank a cheque for £360, which he received from a cus-
tomer in full settlement of a debt of £375. This item was shown correctly in the bank
statement but Duddy had entered the full £375 in the bank column of his cash book.

(6) J. Ellis, a debtor, had made a payment of £292 direct to the bank but this entry had not
been entered in Duddy’s cash book.

REQUIRED

(a) A statement showing the corrected bank statement balance. [4 marks]

(b) The cash book (bank columns only) showing the opening balance at 30 April, the
additional entries now made necessary and closing with the corrected balance. [ 7 marks]

(c) An explanation of why a credit balance on a bank statement represents an asset to the

firm concerned. [4 marks]
(AEB)

Solution 6.1

£
(a) Balance as per bank statement 1,420
add cheques not yet credited (1) 421
1,841
less cheques not yet presented (2) 245
Corrected bank statement balance 1,596
(b)
Cash book
£ £
April 30 Balance b/d 1,793 April 30 Standing orders (3) 168
April 30 J. Ellis 292 April 23 V. Bennett (4) 306
April 24 Discount allowed (5) 15
April 30 Balance c/d 1,596
2,085 2,085

The cash book adjustments can be explained as follows.
(3) Standing orders not entered.
(4) Since we had previously debited the bank account with £306 and credited
V. Bennett’s account with £306, we must now reverse that entry.
(5) The original entry would have been a debit to bank account of £375 — i.e.
£15 more than the correct figure of £360.

(c) Refer to Section 6.3. Bank statement is personal account of business in bank’s
books.
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Further exercises

Question 6.1

(@

(®)

Do you consider the cash book to be a division of the ledger, a book of original entry,
or both? Give reasons for your answer.

A ‘Bank Reconciliation Statement’ is part of the double-entry system compiled to check
the accuracy of the bank statement and the correctness of the firm’s own bank records.
Comment on this statement.

(c) On 31 December 1982 the balance of cash at bank shown in a firm’s cash book was
£976.44. A bank statement up to and including 31 December 1982 showed the follow-
ing:

£

Bank charges debited to the account 7.94
Credit transfer payments made by customers for which no other notification
had been received 247.00
Insurance payment made by standing order not entered in the cash book 25.00
There was no mention in the statement of cheques entered in the cash book
and paid to suppliers 219.18
Make the necessary adjustments to the balance shown in the cash book to ascertain the
correct amount of cash available — i.e. the amount which should be shown as ‘Cash in
bank’ on a balance sheet dated 31 December 1982.

(D)

Answer 6.1

(a) Refer to Section 7.2.
(b) Incorrect: refer to Section 6.1.

(c) £976.44 add £247.00 less £7.94 less £25.00 —i.e. £1,190.50.

Question 6.2

The cash book kept by Martin Barron showed that he had a balance of cash at the bank
at 30 December 1983 of £15,429. On the same date his bank statement showed a balance
in hand of £17,520.

On investigation you discover:

(@)

(®)

©

(d)

©)

a cheque drawn in payment of an account of £571 had been entered in the cash book
as £751 and, at 30 December 1983, had not been presented to the bank for payment;

further cheques drawn, amounting to £1,732, had not been presented to the bank for
payment at 30 December 1983;

the bank had made a direct debit of £125 on 29 December 1983; there was no entry
in the cash book for this item;

bank charges of £86 were charged in the bank statement on 20 December 1983, but no
entry had been made in the cash book;

cheques received on 30 December 1983, amounting to £181, had been entered in the
cash book and banked immediately, but no entry appeared in the bank statement.
You are asked:

(i) to prepare a statement showing the correct balance in the cash book at 30 December,
1983;



(ii) to prepare a reconciliation statement, reconciling the bank statement balance with
the corrected cash book balance at 30 December, 1983.

(SUJIB)
Answer 6.2
£

(i) Balance as per cash book 15,429
add (a) overstatement of payment (£751 — £571) 180
15,609

less (c) direct debit not entered in cash book 125
(d) bank charges not entered in cash book 86 211
Corrected cash book balance £15,398
(ii) Balance per bank statement 17,520
less cheques not yet presented (£1,732 + £571) 2,303
15,217
add cheques not yet credited 181
£15,398

Question 6.3

Paul Summerbee reconciled his cash book with the bank statement every month. His bank
reconciliation statement for the month of November was as follows:

Balance as per statement 30.11.81. £4,500.00 overdrawn
Add unpresented cheques:

J. Soap 54.00
A. Smith 110.00
M. Pym 26.00 190.00
Balance as per cash book (CR) £4,690.00

The following is the extract of the bank column in the cash book for the month of December
1981, and a copy of the bank statement for the same month.

1981 Receipts £ Payments £
Dec. 1 L. Cleary & Sons 4,180.00 Dec. 1  Balance b/d 4,690.00
4  Lewis & Stanley Ltd. 750.00 S Perkins Ltd 46.00
5 Ralfs Computers 3,420.00 8 Haynes & Co. 92.00
19  Mullin Printers 221.00 16  Pyper Finance 110.00
23 Higson Ltd. 540.00 23 Hodgson Building Co. 249.00
29 Moore & Co. 399.00 29  Pennington Printers 75.00
31 Balance c¢/d 4,248.00
£9.510.00 £9,510.00
1981 Dr Cr Balance
£ £ £
Dec. 1 Balance b/f 4,500.00 O/D
J. Soap 54.00 4,554.00 O/D
2 L. Cleary & Sons 4,180.00 374.00 O/D
4 Lewis & Stanley Ltd 750.00 376.00 CR
A. Smith 110.00 266.00 CR
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5 Regal Insurance Co. — Standing order 65.00 201.00 CR

Ralfs Computers 3,420.00 3,621.00 CR

8 Perkins Ltd. 46.00 3,575.00 CR

19 Pyper Finance 110.00 3,465.00 CR
Bank charges 66.00 3,399.00 CR

22 Mullen Printers 221.00 3,620.00 CR
23  Carus Ltd. — Credit transfer 365.00 3,985.00 CR
29 Higson Ltd. 540.00 4,525.00 CR
Bank commission 45.00 4,480.00 CR

L. Cleary & Sons — refer to drawer 4,180.00 300.00 CR

From the above information you are required to prepare:

(a) the corrected cash book balance as at 31 December 1981;

(b) a bank reconciliation statement as at 31 December 1981, using the amended cash book

balance.
Answer 6.3
£
(a) Balance per cash book 4,248.00
add received from Carus Ltd (23 Dec.) 365.00
4,613.00
less
standing order Regal Insurance (5 Dec.) 65.00
bank charges (19 Dec.) 66.00
returned cheque 4,180.00
bank commission (29 Dec.) 45.00 4,356.00
Corrected cash book balance £257.00
£
(b) Bank balance per statement 300.00
add cheque not yet credited Moore and Co. (29 Dec.) 399.00
£699.00
less cheques not yet presented
Haynes & Co 92.00
Hodgson Building 249.00
Pennington Printers 75.00
M. Pym 26.00 442.00

Balance per corrected cash book £257.00

44



1 Day Books and VAT

7.1 Introduction

So far we have emphasised the importance of the double-entry system of book-
keeping. For each transaction which we have looked at we have explained the
double entry involved — that is, the debit to one account and the credit to
another. This is an important principle, which has to be understood. However, the
number of transactions quickly becomes very large in even the smallest of busi-
nesses and to record every transaction as a double entry would be unwieldy. In
the life of a business there are many transactions of a similar nature — i.e. there
will be many credit sale transactions. The purpose of day books is to summarise
all of these transactions of a like nature and to make one entry in the ledger for
the sum total of all those transactions. These books are also called books of prime
entry or books of original entry. They are not part of the double-entry system.
We shall now examine these various books.

7.2  Cash book

We mentioned in Chapter 5 that the cash book was a combination of the bank
account and the cash account. It is, however, also a day book in that it records
daily transactions and is the book of original entry. Unlike other day books, the
cash book may be part of the double-entry system, or there may be a separate
cash account recording totals in the ledger, in which case the cash book is not
part of the double-entry system.

In examination questions, unless they state anything to the contrary, you should
assume that cash book means a book of original entry which also acts as part of
the double-entry system. Chapter S illustrates this type of system.

7.3  Petty-cash book

The uses and advantages of the petty-cash book were discussed in Chapter 5. As
with the main cash book, it may or may not be part of the double-entry system.

7.4  Purchases day book

The purchases book records details of all credit purchases of goods for resale. The
details are obtained from suppliers’ invoices. An example of the purchases day
book, or purchases journal, as it may also be called, is shown below.
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Date Supplier Invoice No. Goods value VAT Invoice value

£ £ £
Oct. 6 Jones & Co. 1,234 100 15 115
Oct. 7 Express Co. 1,235 1,500 225 1,725

Before we look at the next step we should clarify two items.

(i) Goods value is the amount charged by the supplier before adding VAT (see
below) but after deducting any trade discounts. Do not confuse these with
cash discounts, referred to in Chapter 5. Trade discounts are allowed to trade
customers irrespective of how long they take to pay. Cash discounts are
offered for prompt payment.

(ii) Value added tax is charged by suppliers for most types of goods; we shall
examine this subject in more detail in Section 7.9.

At the end of each month or such other length of time as the business decides,
the latter three columns will be totalled and an entry posted to the ledger as
follows:

Dr. Purchases account (with total goods value)
Dr. VAT account (with total VAT charged)
Cr. Creditors account (with total invoice values)

7.5  Purchases returns day book

We record in the purchases returns day book details from credit notes given to us
by suppliers in respect of goods which we have returned to them. The details
recorded will be similar to those in the purchases day book. At the end of the
period the book will be totalled and an entry made in the ledger as follows:

Dr. Creditors account (with total value of credit notes)
Cr. VAT account (with VAT on credit notes)
Cr. Purchases returns account (with goods value as shown on credit notes)

7.6  Sales day book

The sales day book records details of all credit sales by the business. The details
are obtained from copy sales invoices. An example of the sales day book, or sales
journal, as it is also called, is shown below.

Date Customer Invoice No. Goods value VAT Invoice value
£ £ £

Oct. 6 Greentrees Ltd 1,274 600 90 690

Oct.7 Bluestars Ltd 1,275 160 24 184

Again we clarify two points before continuing.

(i) Goods value is the amount which we charge our customers before adding VAT
(see below) but after deducting trade discounts.

(ii) When we invoice our customers, we will have to charge VAT for most types of
goods.
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7.7

7.8

7.9

At the end of the period the latter three columns are totalled and an entry
made in the ledger as follows:

Dr. Debtors account (with total invoice value)
Cr. VAT account (with VAT charged to customers)
Cr. Sales account (with goods value)

Sales returns day book

We record in the sales returns day book details of all credit notes which we have
sent to customers for goods which they have returned to us. The details will be
similar to those recorded in the sales day book. At the end of the period the book
will be totalled and an entry made in the ledger as follows:

Dr. Sales returns account (with goods value)
Dr. VAT account (with VAT on credit notes)
Cr. Debtors account (with total credit note value)

The journal

We should record in the journal all transactions which are not entered into one of
the other day books — e.g. purchase on credit of fixed assets; transfers between
accounts; correction of errors. We keep the journal in order to have some control
over entries in the ledger and also to make it easier to locate any differences
which we may discover as a result of taking out a trial balance.

The form of the journal to record the purchase of a motor van on credit from
Greenford Autos might be as follows:

Dr. Cr.
£ £
March 30 Motor vehicles 6,600
Greenford Autos 6,600

Being purchase of van on credit from Greenford Autos

The narration is important for audit and control purposes, and should indicate the
reason for the entry and, where appropriate, the authority for it.

Value added tax

We have already seen that when a business purchases goods and incurs VAT, the
VAT amount is debited to a VAT account. When a business charges VAT, this is
credited to the VAT account. At the end of each quarter the business sends to
H.M. Customs and Excise a remittance for the difference btween VAT charged
to customers and the VAT the business has itself suffered on purchases. The
amount of this remittance is debited to the VAT account and the bank account is
credited. In this way the VAT account acts as a personal account for H.M. Customs
and Excise, and any balance on the account at the balance sheet date is shown as
a debtor or creditor on the balance sheet, as appropriate.
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7.10 Worked examples

Example 7.1

You are required to copy the following table on your answer paper and then to complete the
columns. The first item has been completed as an example.

Details
obtained  Account Account
Book of original entry from debited credited
(a) Purchases day book Invoices  Purchases Supplier’s
received
(b) Sales day book [2 marks]
(c) Purchases returns day book [2% marks]
(d) Cash book (‘discount received’ column) [2%2 marks]
(e) Cash book (sale of the firm’s motor van
and cheque received in payment) [2%2 marks]
(f) General journal (purchase of fixtures) (2% marks])
Solution 7.1
Book of original entry Details obtained from Account Account
debited credited
(a) Invoices received Purchases Supplier’s
(b) Copy sales invoices Customer’s  Sales
(c) Credit notes received Supplier's Purchases returns
(d) Supplier’s statement Supplier’s Discount received
(e) Credit note received Bank Motor van
® Invoice received Fixtures Supplier’s

Example 7.2

R. Elkins made the following credit purchases on 15 May 1983:

Whitfield Manufacturing Company Ltd
Stock priced at £200 net but subject to 15 per cent VAT

Marketing Company Ltd
Stock at list price £400 subject to a trade discount of 25 per cent and VAT at 15 per cent

Messrs Rook and Crow Ltd

Stock at £300 list price subject to a trade discount of 20 per cent and VAT at 15 per cent
Messrs Rook and Crow Ltd allow a further cash discount of 5 per cent for settlement within
30 days

(a) Set out a purchase day book showing:

(i) the amount to be credited to the personal account of each supplier;
(ii) the amount to be debited to the purchases account;
(iii) the amount to be debited to the VAT account.

(b) The VAT account has been debited with a certain sum of money.
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(i) Does this indicate the government is a debtor to R. Elkins?
(ii) How, under normal trading practice, will R. Elkins recover the amounts paid for
VAT to suppliers?

(5]
Solution 7.2
(a)
Purchase day book
Date Goods value (ii) VAT (iii) Invoice value (i)
£ £ £
May 15 Whitfield Manufacturing Co. Ltd 200.00 30.00 230.00
May 15 Marketing Co. Ltd 300.00 45.00 345.00
May 15 Rook and Crow Ltd 240.00 36.00 276.00

(i) Credit to supplier’s personal account.
(ii) Debit to purchases account.
(iii) Debit to VAT account.

(b)

(i) H.M. Customs and Excise will be a debtor for the amount in (a) (iii).

(ii) R. Elkins will normally recover the amount in (a) (iii) by deducting it from
VAT he has charged his customers and collected on behalf of H.M. Customs
and Excise.

7.11 Further exercise

Question 7.1

W. Watson is the owner of a small retail outlet. He keeps a full set of accounts, including
books of original entry. A selection of his transactions during 1983 is given below.

(1) Purchased goods for resale on credit from D. Crompton £863.

(2) Cash sales £462 (cost price of these goods was £300).

(3) Received £500 from B. Richards (a debtor) on account; paid the full amount into bank.

(4) Bought a motor van, for use in the business, £2,350 on credit from A. Ramsay Motors
Ltd. The full debt is repayable before the end of the current accounting period.

(5) Paid the window cleaner, out of petty cash, £5 for cleaning the office windows.

REQUIRED

(a) Completion of the following table for each transaction [(2)-(5) above], naming the
book of original entry and the immediate or eventual debit and credit entries. The first
one has been done for you as an example. [6 marks]

Book of Original Entry Debit Credit
(@ (1) Purchase day book Purchases £863 D. Crompton £863

Note: State the amount of money involved in each debit and credit entry.

REQUIRED

(b) Completion of the following table for each transaction [(2)-(5) above], indicating how
each transaction would affect gross profit, net profit and working capital. Again, the
first one has been done for you, as an example. [10 marks)
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Gross Profit Net Profit Working Capital
(b) (1) Purchases + £863 but Gross profit no Creditors + £863;
Stock + £863; therefore effect: net profit  therefore current
no effect on gross no effect. liabilities + £863.
profit. Stock + £863;
therefore current
assets + £863. No
effect on working
capital
(AEB)
Answer 7.1
(@)

(2) Cash book Cash Sales

(3) Cash book Bank B. Richards

(4) Journal Motor van A. Ramsay Motors Ltd

(5) Petty-cash book Window cleaning | Petty cash

(b)
(2) Sales + £462 but | £162 increase, as | Cash + £462 but stock —
stock — £300: for gross profit £300; therefore £162 increase
therefore £162 in current assets and therefore
increase in £162 increase in working
gross profit capital
(3) No effect No effect Bank + £500 but debtors
— £500; therefore no effect
on current assets or
working capital

(4) No effect No effect Creditors + £2,350; therefore
current liabilities +
£2,350 and working capital
— £2.350

(5) No effect Expenses + £5; Petty cash — £5; therefore

therefore net
profit — £5

current assets — £5 and
working capital — £5



8 Errors and Suspense
Accounts

8.1  Errors not affecting the trial balance

In Chapter 2 we saw that the purpose of preparing the trial balance was to check
the arithmetical accuracy of the books. We also noted that some errors would not
be revealed by extracting a trial balance, and we shall now look at those types of
error in greater detail.

Errors of omission are errors resulting from the complete failure to enter a
transaction in the books.

Errors of commission are errors resulting from the posting of a transaction to
the correct type of account but the wrong account: for example, debiting the
account of J. Fenner with £100 paid to D. Fenner.

Errors of principle are errors that occur where we debit the wrong type of
account: for example, debiting £100 for repairs to buildings to the buildings
account (asset) instead of the repairs account (expense).

Compensating errors occur where we make errors which compensate: for
example, debiting £150 to the salaries account when the correct figure is £200
and crediting £350 to the sales account when the correct figure is £400.

Reversal of entries occurs where we debit the account which should be credited
and credit the account which should be debited.

Errors of original entry occur where the same wrong amount is posted to the
debit of one account and the credit of another. Although the accounts to which
we enter are correct, the amount is incorrect.

8.2 Correction of errors

(a) Errors of Omission

Errors of omission are corrected by posting the original entry as it should have
been posted. For example, we omit to post a payment of £200 through the bank
for wages: the correction would be

Dr. Cr.
£ £
Wages account 200
Bank account 200
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(b) Errors of Commission

In order to correct errors of commission, we must cancel out the misposting by
an opposite entry to the original and post the item to the correct account. For
example, we pay £100 to D. Fenner and debit the account of J. Fenner.

Dr. Cr
£ £
D. Fenner 100
J. Fenner 100

(c) Errors of Principle

As with errors of commission, we must cancel out the original entry and post the
amount to the correct account. For example, we debit buildings account with
£100 paid in respect of repairs to buildings.

Dr. Cr.
£ £
Repairs to buildings account 100
Buildings account 100

(d) Compensating Errors

We must analyse whether we have debited or credited the account with too much
or too little. We then debit the account if either we have previously debited too
little or credited too much. We credit the account if either we have originally
credited too little or debited too much. For example, to correct an error where
we have debited £150 to the salaries account instead of £200 and credited £350
to the sales account instead of £400, the correcting entry would be

Dr. Cr.
£ £
Wages account 50
Sales account 50

(e) Reversal of Entries

In this case we must reverse our original entry to cancel out that entry and post
the transaction as it should have been posted in the first instance. For example,
we pay postage of £100 and we debit bank account and credit postage account
when, of course, the entry should be the reverse:

Dr. Cr
£ £
Postage account 100
Bank account 100
and
Postage account 100
Bank account 100

The first entry cancels out and reverses the incorrect entry and the second entry
records the transaction as it should have been entered in the books originally.



8.3

8.4

(f) Errors of Original Entry

If we have posted an amount which is less than the correct amount, we make an
additional entry for the amount of the difference, posting to the same accounts as
the original entry. If we have posted an amount which is greater than the correct
amount, we make an entry for the amount of the difference, posting to the same
accounts as the original entry but in reverse — that is, debit where we credited
and credit where we debited. This will have the effect of reducing the value of the
original entry to its correct amount. For example, we receive £160 from P. Dawson
but we debit the bank account with £180 and credit P. Dawson with £180. The
correcting entry will be

Dr. Cr.
£ £
P. Dawson 20
Bank account 20

Suspense accounts

Suspense accounts are used where a difference arises when we extract our trial
balance and we are unable to locate the difference. Of course, every effort should
be made to locate the difference and correct the errors, the suspense account
being used only as a last resort. Where we need to use a suspense account, we
open the account with a balance representing the difference between the two
sides of the trial balance. If debit balances are greater than credit balances, then
the account is opened with a credit balance, and if credit balances are greater than
debit balances, then the suspense account will be opened with a debit balance.

The balance will remain on the suspense account until the error or errors are
located, possibly after the final accounts have been prepared. When the errors are
discovered, we must correct them, using the suspense account. If we have debited
too little to an account or credited too much, then we must debit that account
and credit the suspense account. If we have credited too little to an account or
debited too much, then we must credit that account and debit the suspense
account.

Worked examples

Example 8.1

P. Wedge is the owner of a small retail outlet dealing in the purchase and sale of golf equip-
ment. On 1 December 1984, the following balances appear in his books:

£
fittings 620
stock in trade 3,200
motor van 2,500
sales 9,200
returns inward 69
cash at bank 2,600
cash in hand 180
purchases 3,500
drawings 30
trade creditors 2,190
capital 1,479

A trial balance prepared at 1 December 1984, from the above figures, was incorrect owing to:
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(1) goods, to the value of £85 (cost price), withdrawn for the personal use of the owner
incorrectly credited to the drawings account (the other part of the double entry was
correct);

(2) the last physical stock count omitted goods valued at £800;

(3) the complete omission of bank charges £9, levied towards the end of November.

REQUIRED
(a) A corrected trial balance as at 1 December 1984 incorporating the adjustments made
necessary by items (1-3) above. Show any such adjustment in brackets next to the
relevant item in the trial balance. [9 marks]

During the month of December, some of Wedge’s transactions were:
(i) purchased goods from a supplier by cheque £1,500;
(ii) purchased goods for resale on credit, £2,300 from P. Green;
(iii) sent a cheque £1,900 to a creditor, S. Iron, for an amount on which 5% cash discount
was received;
(iv) sold the motor van (book value £2,000) for £1,800 cash;
(v) returned damaged goods, previously bought on credit, to S. Bunker £93.

REQUIRED
(b) A statement showing which account would be debited and which account would be
credited for each of the transactions numbered (i~v) above. The amount involved in each
debit and credit entry must be stated and you are advised that some of the transactions
may require more than one double entry. [4 marks)
(c) Computation of the amount Wedge owed his trade creditors at 31 December 1984,
Your answer may be in account form or otherwise but you are advised to show all

workings. [3 marks]

(d) An explanation of the main purpose of a trial balance. [1 mark]
(e) The main reason why Wedge’s creditors may offer cash discount terms. [1 mark]
(AEB)

Solution 8.1

(a)
P. Wedge Trial Balance as 1 December 1984
As given Adjustments Corrected
Dr. Cr. Dr. Cr. Dr. Cr.
£ £ £ £ £ £
Fittings 620 620
Stock 3,200 3,200
Motor van 2,500 2,500
Sales 9,200 9,200
Returns inward 69 69
Cash at bank 2,600 9(3) 2,591
Cash in hand 180 180
Purchases 3,500 3,500
Drawings 30 85(1) 200
85(1)
Trade creditors 2,190 2,190
Capital 1,479 1,479
General expenses 9(3) 9
12,699 12,869 12,869 12,869
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NOTES
(1) The correct entry for taking of goods for personal use is

Dr. Drawings
Cr. Purchases

The second part of the entry was done correctly, but an adjustment is needed
to reverse the original credit to drawings and then to record the transaction
correctly.
(2) No adjustment required since it is the closing stock which will be affected.
The stock figure appearing in the trial balance will be the opening stock figure.
(3) Dr. General expenses

Cr. Bank
(b) £ £
(i) Dr. Purchases 1,500
Cr. Cash at bank 1,500
(ii) Dr. Purchases 2,300
Cr. P. Green 2,300
(iii) Dr. S. Iron 1,900
Cr. Cash at bank 1,900
Dr. S. Iron 100
Cr. Discounts received 100
(iv) Dr. Cash in hand 1,800
Cr. Motor van 1,800
Dr. Loss on disposal 200
Cr. Motor van 200
(Note: This topic is explained in Chapter 11.)
(v) Dr. S. Bunker 93
Cr. Returns Outward 93
(©)
Creditors
Dec. 31 Cash at bank (Iron) 1,900 Dec. 1 Balance b/d 2,190

Dec. 31 Discounts received (Iron) 100  Dec. 31 Purchases (Green) 2,300
Dec. 31 Returns outward (Bunker) 93
Dec. 31 Balance c/d 2,397

4,490 4,490

(d) Refer to Section 2.2.
(e) Refer to Section 5.2.

Example 8.2

I. Buchanan prepared a trial balance on 31 May 1984, which showed that the total of the
credit balances was £350 more than the total of the debit balances. A suspense account was
opened with this figure to make the books balance. Later investigations revealed the follow-
ing errors in his books:

(i) a purchase of £350 was entered wrongly as £200 in the account of the supplier, P. Madoc;
(ii) the purchase by cheque of a piece of office equipment for use in the office, at a cost of
£600, had been posted to the purchases account;
(i) the total of the sales returns book, amounting to £410, had not been posted to the
ledger;
(iv) a debit balance on J. Gower’s account of £540 was brought down as £450 and this
latter figure was included in the debtors’ total entered in the trial balance.

You are required to:

(a) prepare the journal entries, including narrations, necessary to correct the above errors;
[10 marks)

(b) write up the suspense account. [5 marks]
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Solution 8.2

(a)
(i) Dr. Cr.
£ £
Suspense account 150
P. Madoc 150

To credit P. Madoc with £150, being difference between £200 originally
entered and correct figure of £350

(ii) Office equipment account 600
Purchases account 600

To transfer cost of office furniture originally entered in purchases account

(iii) Sales returns account 410
Suspense account 410

Being value of sales returns as per sales returns book not entered in ledger

(iv) J. Gower 90
Suspense account 90

To debit J. Gower with difference on balance brought down (£540 less

£450)
(b)
Suspense account

£ £
Balance 350 Sales returns (iii) 410
P. Madoc (i) 150 J. Gower (iv) 90

500 500
Example 8.3

R. Blackett’s trial balance, extracted at 30 April 1982, failed to agree. In early May the
following errors were discovered.

1. The total of the returns outward book, £124, had not been posted to the ledger.

2. An invoice received from W. Dawson, £100, had been mislaid. Entries for this transaction
had, therefore, not been made.

3. A payment for repairs to the motor van, £36, had been entered in the vehicle repairs
account as £30.

4. When balancing the account of R. Race in the ledger, the debit balance had been brought
down in error as £26, instead of £62.

REQUIRED
(a) (i) Journal entries, complete with suitable narrations, to correct each of the above
errors. [6 marks]
(ii) A suspense account indicating the nature and extent of the original difference in
the books. (4 marks]
(iil) The incorrect total of the trial balance credit column, given that the incorrect total
of the debit column was £10,000. [2 marks]
REQUIRED
(b) Four types of errors which do not affect the agreement of the trial balance, giving an
example of each. [8 marks]
(AEB)
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Solution 8.3

(a)
@i 1. Dr. Cr.
£ £
Suspense account 124
Returns outward account 124

Being value of returns outwards as per returns outwards book not
entered in ledger

2.
Purchases account 100
W. Dawson 100
Being value of purchases from W. Dawson not posted to ledger
Note: This assumes invoice is for purchases of goods for resale.
3.
Vehicle repairs 6
Suspense account 6
Being difference between cost of motor repairs £36 and amount actually
posted £30
4.
R. Race 36
Suspense account 36
Being error in balance brought down on R. Race’s account £62 instead
of £26
(ii)
Suspense account
£ £
Returns outwards 124 Balance (see note) 82
Vehicle repairs 6
R. Race 36
124 124

Note: This is a balancing figure and therefore assumes that all of the
differences have been located.

£
(iii)  Incorrect total of debit column 10,000

Therefore credit column £82 less — i.e. £9,918.

(b)

Refer to Section 8.1; any four from six types described.

8.5  Further exercises

Question 8.1 Marks

(a) State whether each of the following is TRUE or FALSE. In EACH CASE give
a reason for your answer.
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(i) When you receive your monthly Bank Statement its closing balance
should always be the same as the closing balance shown in the Bank
Column of your Cash Book.

(ii) The purchase of a Fixed Asset should always be recorded on the DEBIT
side of the Profit and Loss account.

(iii) The Bank Account Column in a Cash Book can never have a CREDIT

balance.
(iv) Discount Received is transferred at the end of the accounting period to
the CREDIT side of the Profit and Loss account 8
(b) What is the purpose of preparing a Trial Balance? 1

(c) Explain THREE DISTINCT types of error NOT disclosed by a Trial Balance.
Give an example with each explanation.
[25]

Answer 8.1

(a) (i) False (ii) False (iii) False (iv) True
(b) Refer to Section 8.1.
(¢) Refer to Section 8.1.

Question 8.2

The trial balance extracted by T. James and Sons, wholesalers, on 30 April 1983 failed to
agree and the difference was entered in a Suspense Account. When the books of account
were checked later, it was found that the difference had been caused by these errors:

(a) A payment of £470.00 for rates had been entered correctly in the Cash Book but was
posted to Rates Account (debit side) as £400.70.

(b) In the F. Mason Account, there were debit entries totalling £1,087 28 and credit entries
totalling £1,208.08. The balance was carried down on 30 April 1983 as £110.80 and
the amount entered in the trial balance for this account was £110.80 (credit column),
as shown in the account.

(c) The total of the Discount Allowed column in the Cash Book had been over-cast by £9.

(d) An entry of £87.50 in the Sales Day Book for goods sold to N. Dailey had not been
posted to the N. Dailey Account in the ledger.

(e) The total of Sales Returns Book, £225.90, had not been posted to the ledger.

You are asked:

(1) to prepare journal entries for the correction of these errors;
(2) to make all the necessary entries in the Suspense Account, including the initial entry

for the difference in the books. [18]
(OLE)
Answer 8.2

(1) (a) Dr. Rates Cr. Suspense £69.30
(b) Dr. Suspense Cr. F.Mason £10.00
(¢c) Dr. Suspense Cr. Discounts allowed £9.00
(d) Dr. N. Dailey Cr. Suspense £87.50
(e) Dr. Sales returns Cr. Suspense £225.90

(2) Suspense account opening balance £363.70 debit



9 Bad Debts and
Bad Debts Provision

Examination questions involving bad debts can be centred around the accounting
entries to record the writing off of bad debts and the creation, increase and
decrease of bad debts provisions. Alternatively, their treatment can be examined
as part of a larger question such as a final accounts question. If you can master
the principles necessary to answer the first type of question, you should have no
difficulty with the second type of question.

9.1  Writing off bad debts

When a debtor is unable to pay his debts and the amount due from him is con-
sidered to be irrecoverable, we would not want to leave the balance on his account.
To do so would be to carry forward a balance which in reality has no value. The
accounting entry is therefore

Dr. Bad debts (an expense account which will be transferred to the profit and
loss account)
Cr. A debtor (to reduce/eliminate the amount owing)

If any monies are subsequently received from the debtor, the entry will be

Dr. Cash or Bank
Cr. Bad debts (to reduce the charge to the profit and loss account)

9.2  Making a provision for future bad debts

If we consider that there is a possibility of future bad debts, we do not want to
reduce the debtors account, since there is still a chance of recovery of the debt.
We do however wish to make a charge against profits in a current accounting
period against future bad debts and reduce the value of debtors in our balance
sheet. The accounting entries are therefore

Dr. Profit and loss account (which will decrease profits)
Cr. Bad debts provision account (the balance on this account being carried
forward in the books of account and shown as a deduction from
debtors on the balance sheet — thus reducing the value of the debtors)
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9.3

9.4
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It is always preferable to maintain a separate bad debts provision account as
above. However, it may be that the examination question will require only a bad
debts account, in which case the method is identical, as shown in the second
worked example.

Once a provision is set up, future bad debts may be either written off direct to
a bad debts account or debited to the provision account.

Adjusting the provision

(a) Accounting Entries

In future periods we may consider our provision to be too large or too small. To
increase the provision, we make an accounting entry as in Section 9.2 for the
amount of the increase. Conversely, to reduce the provision, we must reverse that
entry.

(b) Final Accounts

Faced with a trial balance to which adjustments have to be made from the above,
we can make the following rules:

(i) Bad debts — if this appears in the trial balance, write the amount off as a
charge in the profit and loss account.

(ii) Bad debts provision — this amount must be deducted from debtors in the
balance sheet. If the question requires an adjustment to the provision we
must treat any increase as a charge in the profit and loss account, or treat
any decrease as a credit in the profit and loss account and deduct the new
provision from debtors in the balance sheet.

Worked examples

Example 9.1

R. Browling keeps his books on the financial year January to December. The figures below
show his debtors at the end of the years indicated.

£
January to December 1984 8,000
1985 6,000
1986 9,000
1987 9,000

He decided to create a provision for doubtful debts of 5 per cent of debtors in December
1984 and to maintain it at that percentage. Write up the provision for doubtful debts account
for the years ended 31 December 1984 to December 1987.



Solution 9.1

Provision for doubtful debts

£ £
31 Dec. 1984 balance c/d 400 31 Dec. 1984 Profit and loss (1) 400
400 400
31 Dec. 1985 Profit and loss (2) 100 1 Jan. 1985 balance b/d 400
31 Dec. 1985 balance c/d 300
400 400
31 Dec. 1986 balance c/d 450 1 Jan. 1986 balance b/d 300
31 Jan. 1986 Profit and loss (3) 150
450 450
31 Dec. 1987 balance c/d 450 1 Jan. 1987 balance b/d 450
450 450
NOTES
(1) 5 per cent of £8,000 = £400
(2) 5 per cent of £6,000 = £300
less provision b/f = £400
Increase/(decrease) in provision £(100)
(3) 5 per cent of £9,000 = £450
less provision b/f £300
Increase/(decrease) in provision £150

Note: No adjustment is required to the provision in 1987, since the level of
debtors is unchanged from that in 1986.

Example 9.2

The account shown below was in the ledger of J. Thompson at the end of his accounting
year, 31 December 1982, before the final accounts for that year were prepared.

Dr. Bad Debts Account Cr.
£ £

June 5 J. Hanson 218.40 January 1 Provision b/d 170.00

July 22 F. Simpson 112.50 December 15  Cheque (J. Hanson)  21.84

November 6 T. Morrison  96.20

You are asked:

(a) to prepare the account as it should appear after the preparation of final accounts for the
year ended 31 December 1982. Sundry trade debtors at 31 December 1982 totalled
£4,100 and the closing provision required is 5% of this amount;

(OLE)
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Solution 9.2

Bad debts account

£ £
June 5 J. Hanson 218.40 Jan. 1 Provision b/d 170.00
July 22 F. Simpson 112.50 Dec.15 Cheque (J. Hanson) 21.84
Nov.6  T.Morrison 96.20 Dec. 31 Profit and loss (2) 440.26
Dec.31 Provision ¢/d (1) 205.00
£632.10 £632.10

NOTES

(1) The year end provision is required to be 5 per cent of £4,100 — i.e. £205.
(2) The figure of £440.26 is the balancing figure required to bring the bad debts
provision to the amount calculated in (1) above.

9.5 Further exercise

Question 9.1

D. Davy had an exporting business which adjusted its provision for doubtful debts at the end
of the year at a given percentage of the total sundry debtors. The percentage varied each
year, depending on the national and international economic situation. Irrecoverable debts
were written off during the year to a bad debts account, as and when they were known.

Bad debts written Rate of percentage
off during year to Total debtors for provision of
bad debts account  at year end doubtful debts
£ £
31 December 1979 750 14,000 S per cent
31 December 1980 4,085 10,000 10 per cent
31 December 1981 2,900 15,000 5 per cent

From the above information you are required to show:

(a) the bad debts account as affected by the closing entries at the end of the financial
years 31 December 1979, 1980 and 1981;

(b) the provision for doubtful debts account for the same years showing the provision
brought forward for each year; the balance on this account on 1 January 1979 was
£500;

(c) the journal entries for transactions to both the above-named accounts;

(d) an extract from the balance sheets showing how the provision would affect the sundry
debtors, as at 31 December 1979, 1980 and 1981.

Answer 9.1

C) Bad debts

1979 £ 1979 £
Dec.31 Debtors 750 Dec. 31 Profit and loss 750
1980 1980

Dec. 31 Debtors 4,085 Dec. 31 Profit and loss 4,085
1981 1981

Dec.31 Debtors 2,900 Dec.31 Profit and loss 2,900
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(b)

Provision for doubtful debts

1979
Dec. 31

1980
Dec. 31

1981
Dec. 31
Dec. 31

(c)

Balance c/d

Balance c/d

Profit and loss
Balance c/d

1979 Bad debts
Debtors

Being bad debts written off

£
700

700
1,000
1,000

250

750
1,000

1980 as for 1979 but £4,085
1981 as for 1979 but £2,900

1979 Provision for doubtful debts

Profit and loss
Being adjustment to provision to increase from £500 to £700

1980 Provision for doubtful debts

Profit and loss
Being adjustment to provision to increase from £700 to £1,000

1981 Provision for doubtful debts

Profit and loss
Being adjustment to provision to decrease from £1,000 to £750

(d)

Balance sheet extracts

less provision for doubtful debts

1979 £
Jan. 1 Balance b/d 500
Dec. 31 Profit and loss 200
700
1980
Jan. 1 Balance b/d 700
Dec. 31 Profit and loss 300
1,000
1981
Jan. 1 Balance b/d 1,000
1,000
1982
Jan. 1 Balance b/d 750
Dr.
£
750
200
300
250
31 Dec. 1979 31 Dec. 1980
14,000 10,000
700 1,000
£13,300 £ 9,000

Cr.

750

200

300

250

31 Dec. 1981
15,000
750

£14,250
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10 Control Accounts

10.1 Introduction

We have referred in previous chapters to entries to accounts of debtors and
creditors, and this is the area where control accounts are used. We also saw in
Chapter 7 how day books reduce the necessity of posting several separate tran-
sactions in our ledger. It is the problems associated with a large number of tran-
sactions in the ledger that control accounts seek to resolve.

If we consider the problem with a business which has a large number of debtors,
we need to have a record of the amounts due from individual debtors in order
that we can chase up unpaid debtors for payment. With regard to our final
accounts — that is, the balance sheet — we only need a total figure for debtors and
this is what control accounts will tell us, since they are nothing more than accounts
containing totals. In fact, an alternative name for them is ‘total accounts’. The
control account contains totals of postings to the individual accounts which it is
controlling. For example, a debtors control account or total debtors account
contains entries for the total of all items posted to the individual debtor accounts.
Similarly, a creditors control account or total creditors account will contain
entries for the total of all items posted to the individual creditors accounts.

10.2 Control accounts and double-entry

64

To give a simple example of control accounts, let us take the following transac-
tions of a new business for the month of January.

Total sales £10,500
Cash receipts from debtors £ 9,100

The debtors control account would appear as follows

Debtors control account

£ £
Jan. 31 Sales 10,500 Jan.31 Cash 9,100
Jan.31 Balance c¢/d 1,400

10,500 10,500
Feb. 1 Balance b/d 1,400

Meanwhile the individual debtors accounts will be debited with the separate sales
transactions which make up the £10,500, and individual accounts credited with
cash receipts making up £9,100. If this process is followed accurately, at any one
time the balances on the individual accounts will total the balance on the control
account — in this case £1,400.



At first sight it may appear that we are contravening the rules of double-entry
book-keeping, since the transactions are being posted to the individual accounts
and the control accounts. That is to say, in the above example we credit sales
with £10,500 and debit both the control account and the individual debtors
accounts with £10,500. The answer to this apparent inconsistency is that only
one of either the control accounts or the individual accounts is part of the double-
entry system. Unfortunately for the student, it may be either of these which is
part of the double-entry system, but never both. You must read the examination
question carefully to ascertain which system is in use. It may be that the control
account is part of the double-entry system, in which case the individual accounts
will be a subsidiary record. Alternatively, the individual accounts may be part of
the double-entry system and the control account will be only a memorandum
account.

10.3 Maintaining control accounts

In Section 10.2 we looked at a very simple example of a control account where
there were only two types of transactions involved — that is, sales and cash.
However, the principle remains the same with all transactions involving the
debtors or creditors accounts.

The rule is that the totals of similar transactions posted to the debit of the
individual accounts must be posted in total to the control account as a debit.
Similarly, the totals of similar transactions posted to the credit of the individual
accounts must be posted in total to the credit of the control or total account.

Following this rule we would expect the debit side of the debtors control
account to include entries for sales and miscellaneous debits and the credit side to
include cash, discounts allowed, sales returns and bad debts. The creditors control
account will, on the debit side, include entries for cash, discounts received and
purchases returns, while the credit side will include entries for purchases and
miscellaneous credits.

10.4 Transferring accounts

Examination questions on control accounts often involve transfers between sales
and purchase ledgers. If an account in the sales ledger has a debit balance and is to
be transferred to the purchase ledger, we credit the sales ledger control and debit
the purchase ledger control. Conversely, a credit balance being transferred from
purchase ledger to sales ledger requires an entry debiting sales ledger and crediting
purchase ledger.

10.5 Sectionalisation of ledgers

In the larger businesses the sales and/or purchase ledger may be kept in sections —
for example, A-J, K-R and S-Z. Exactly the same principles apply with the con-
trol account containing entries for the totals of all transactions in the individual
accounts which they are controlling.
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10.6 Sales and purchases ledgers

These names refer to the ledgers containing the individual accounts for debtors

and creditors.

10.7 Worked examples

Example 10.1

R. Pettit’s purchase ledger contains the accounts of two creditors with the following balances:

1982
August 1

£

S. Nicholls 260 credit
G. Price 310 credit

During August the following transactions took place.

1982

August 4
August 5
August 10
August 14

August 19 |

August 28

August 31

Bought goods from S. Nicholls on credit £624.

Purchases from G. Price on credit £414.

Returned damaged goods to S. Nicholls £24.

Sent S. Nichols a cheque in settlement of his account at 1 August, less 10 per
cent cash discount.

Received a credit note from G. Price for £8 in respect of an overcharge on
S August.

S. Nicholls complained that the discount on 14 August should have been
5%. Correct this error.

G. Price also bought some goods from Pettit. The debit balance of £16 on
Price’s account in the sales ledger was transferred to his account in the bought
ledger.

Pettit had many customers to whom he sold goods on credit. Such debtors totalled £700 on
1 August 1982 and during that month transactions with them were:

£
Sales 5,300
Returns inward 29
Cheques received 5,356
Discounts allowed 281
Bad debts 35

In addition, the transfer of the balance on the account of G. Price (see 31 August above) was

carried out.

REQUIRED
(a) The accounts of Nicholls and Price as they would appear in Pettit’s purchase ledger for
the month of August 1982. [8 marks]
(b) The sales ledger control account for the month of August 1982. [S marks]
(c) A comment on the purpose of control accounts. [4 marks]
(AEB)
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Solution 10.1

(a)
S. Nicholls
£ £
Aug. 10 Purchases returns 24 Aug. 1 Balance b/d 260
Aug. 14 Bank 234 Aug. 4 Purchases 624
Aug. 14 Discounts received 26 Aug. 28 Discounts received 13
Aug. 28 Bank (1) 13
Aug. 31 Balance c/d 600
£897 £897
Sept. 1 Balance c¢/d 600
G. Price
£ £
Aug. 19 Purchases (2) 8 Aug. 1 Balance b/d 310
Aug. 31 G. Price (sales ledger) (3) 16 Aug. 4 Purchases 414
Aug. 31 Balance c/d 700
724 724
Sept. 1 Balance c/d 700
NOTES

(1) Represents payment to S. Nicholls of discount deducted in error.

(2) A price reduction should correctly go to purchases account and not pur-

chases returns.

(3) Entry to transfer would be debit G. Price (purchases ledger) and credit G. Price

(sales ledger)

(o)
Sales ledger control
£
Aug. 1 Balance b/d 700 Aug. 31 Sales returns 29
Aug. 31 Sales 5,300 Aug. 31 Bank 5,356
Aug. 31 Discounts allowed 281
Aug. 31 Bad debts 35
Aug. 31 G. Price (purchase ledger) 16
Aug. 31 Balance c¢/d 283
6,000 6,000
Sept. 1 Balance b/d 283
(c)

(i) An aid to balancing the ledger.

(ii) Control account under charge of responsible official makes fraud more

difficult.
(iii) Total balances readily available.

Example 10.2

The following information relates to the sales and purchases transactions of
E. MacDon for the month of January, 1983. YOU ARE REQUIRED to select
the appropriate items and draw up:

Marks
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(i) the Sales Ledger Control Account 7
and
(ii) the Purchases Ledger Control Account 6
as they would appear in the General ledger of E. MacDon for January, 1983.
£
1983
Jan. 1 Amounts owed by debtors 12,400
Jan.1 Amounts owed to creditors 3,600
£
Transactions during January, 1983
Sales on credit 84,600
Cash sales 19,500
Purchases on credit 43,900
Cash purchases 7,200
Cash received from debtors 81,200
Cash paid to creditors 42,100
Cash discount allowed by suppliers 750
Cash discount allowed to customers 1,250
Credit notes issued for goods returned by customers 250
Credit notes received for goods returned to suppliers 400
Interest charged to debtors on accounts overdue 35
Credit balances on Purchases Ledger accounts transferred to Sales Ledger 100
(SEB)
Solution 10.2
Sales ledger control
£ £
Jan. 1 Balance b/d 12,400 Jan.31 Bank 81,200
Jan.31 Sales 84,600 Jan. 31 Discounts allowed 1,250
Jan. 31 Interest received 35 Jan. 31  Sales returns 250
Jan. 31 Purchases ledger 100
Jan. 31 Balance c/d 14,235
97,035 97,035
Feb. 1 Balance b/d 14,235
Purchases ledger control
£ £
Jan.31 Bank 42,100 Jan. 1 Balance b/d 3,600
Jan.31 Discounts received 750 Jan.31 Purchases 43,900
Jan.31 Purchases returns 400
Jan.31 Sales ledger 100
Jan.31 Balance c/d 4,150
47,500 47,500
Feb. 1 Balance b/d 4,150

Example 10.3

From the following details prepare the Sales Ledger Control Account and the Purchases
Ledger Control Account for the month of March 1983:



Sales Ledger Control Account balance 1 March 1983 7,000
Purchases Ledger Control Account balance 1 March 1983 6,550
Sales 11,000
Purchases 5,450
Receipts from credit customers 10,400
Payments to suppliers for goods on credit 6,300
Returns Inwards 20
Returns Outwards 190
Bad Debts written off 350
Refund of an overpayment made to a credit supplier 60
Discount allowed 130
Transfer of Credit balance from Purchases Ledger to Sales Ledger 100
[15 marks]
Solution 10.3
Dr. Sales ledger control Cr.
£ £
Mar. 1 Balance b/d 7,000 Mar. 31 Bank 10,400
Mar. 31 Sales 11,000 Mar. 31 Returns inwards 20
Mar. 31 Bad debts 350
Mar. 31 Discounts allowed 130
Mar. 31  Purchases ledger 100
Mar. 31 Balance ¢/d 7,000
18,000 18,000
April 1 Balance b/d 7,000
Dr. Purchases ledger control Cr.
£ £
Mar. 31 Bank 6,300 Mar. 1 Balance b/d 6,550
Mar. 31 Returns outwards 190 Mar. 31  Purchases 5,450
Mar. 31  Sales ledger 100 Mar. 31 Bank 60
Mar. 31 Balance c¢/d 5,470
12,060 12,060
April 1 Balance b/d 5,470

10.8 Further exercises

Question 10.1

The following information refers to the debtors and creditors of A. M. Suppliers Ltd.
Balances on 1 December 1984

T. Wilkins
R. Brough
W. Rilands

Total debtors

Sales during December 1984

Dec.

8 T. Wilkins
10 R. Brough
11 T.W. Smart

£

380.80
480.35

107.50
968.65

£
170.70
850.30

110.00

1,

131.00

£
J. M. Barton 490.78
T. W. Smart 350.85
Total creditors 841.63

Purchases during December 1984

Dec. £
8 J. M. Barton 170.95
12 T. W. Smart 460.05
631.00
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Receipts and payments during December 1984
Discount Bank

Dec. £ £
4 T. Wilkins 7.60 373.20
9 R. Brough 480.35
7.60 853.55

Dec.

Barton

3 IM.
5 T.W. Smart

Bank
£
490.78
350.85

841.63

(a) Open accounts for each customer and supplier together with control accounts for each
ledger and post the information given above.

On 31 December it was decided, since T. W. Smart is mainly a supplier, to offset the isolated
sale against his account in the purchases ledger.
It was also decided since the W. Rilands account is now long overdue and there appears to
be no possibility of receiving payment, to write it off as a bad debt.

(b) Make the entries to record these two decisions.

(c) Balance the accounts and reconcile the two ledgers.

@0
Answer 10.1
Sales Ledger
T. Wilkins
Dec. 1 Balance b/d 380.80 Dec. 4 Bank 373.20
Dec. 8 Sales 170.70 Dec. 4 Discount 7.60
Dec. 31 Balance c¢/d 170.70
551.50 551.50
Jan. 1 Balance b/d 170.70
R. Brough
Dec. 1 Balance b/d 480.35 Dec. 9 Bank 480.35
Dec. 10 Sales 850.30 Dec. 31 Balance c/d 850.30
1,330.65 1,330.65
Jan. 1 Balance b/d 850.30
W. Rilands
Dec. 1 Balance b/d 107.50 Dec. 31 Bad debts 107.50
107.50 107.50
T. W. Smart
Dec. 11 Sales 110.00 Dec. 31 Contra Purchases Ledger 110.00
110.00 110.00
Debtors Control
Dec. 1 Balances b/d 968.65 Dec. 31 Bank 853.55
Dec. 31 Sales 1,131.00 Dec. 31 Discounts 7.60
Dec. 31 Bad debts 107.50
Dec.31  Contra Purchases Ledger 110.00
o Dec. 31 Balances c/d 1,021.00
2,099.65 2,099.65
Jan. 1 Balances b/d  1,021.00
Reconciliation: T. Wilkins 170.70
R. Brough 850.30
As above £1,021.00




Purchases Ledger

J. M. Barton
Dec. 3 Bank 490.78 Dec. 1 Balance b/d 490.78
Dec. 31 Balance c/d 170.95 Dec. 8 Purchases 170.95
661.73 661.73
Jan. 1 Balance b/d 170.95
T. W. Smart

Dec. 31 Contra Sales Ledger 110.00 Dec. 1 Balance b/d 350.85
Dec. 12 Bank 350.85 Dec. 12 Purchases 460.05

Dec. 31 Balance c/d 350.05
810.90 810.90
Jan. 1 Balance b/d 350.05

Creditors Control

Dec. 31 Bank 841.63 Dec. 1 Balances b/d 841.63
Dec. 31 Contra Sales Ledger 110.00 Dec. 31 Purchases 631.00

Dec. 31 Balances c/d 521.00
1,472.63 1,472.63
Jan. 1 Balance b/d 521.00

Reconciliation: J. M. Barton 170.95

T. W. Smart 350.05

As above £521.00

Question 10.2

(a) Explain the term ‘suspense account’ in connection with the trial balance. Draw up a
suspense account showing one entry and explain how it may be cleared. [8 marks]
(b) What is a control account? Give an example of a sales (debtors’) ledger control account
of a firm which has a large number of customers. Your control account should contain
at least four different entries and should be balanced at the period end. [7 marks]

Answer 10.2

(a) Used for difference in trial balance which cannot be located; refer to Section
8.3 and worked examples.

(b) An account which records totals of transactions entered in individual accounts;
refer to Section 10.1 and worked examples.
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11 Depreciation and
Disposal of Assets

11.1 Introduction

In Chapter 4 we defined fixed assets as those held for continuing use in the busi-
ness. Fixed assets therefore earn profits for a business over several years, which
was our reason for showing them on our balance sheet rather than treating them
as an expense in our profit and loss account. We must realise, however, that fixed
assets do not last forever, except land, although some, such as buildings, may have
very long lives. In view of the above, we should make a charge to the profit and
loss account each year equal to the part of the cost which we have used. We call
this charge depreciation.

11.2 Meaning of depreciation

From the above we could say that depreciation is the spreading of the cost of a
fixed asset over its useful life. For example, if a machine costs a business £20,000
and has an expected life of 5 years, it would be reasonable to charge against each
year’s profits £4,000 (£20,000 + 5).

Although the above is not a strict definition of depreciation, it is satisfactory
for us at the moment, and we shall now examine some points for further con-
sideration.

11.3 Total depreciation charge

In Section 11.2 we took the cost of the fixed asset and spread that cost over its
expected life. We have therefore ignored the possibility of the asset having a value,
albeit a scrap value, at the end of its expected life. If a fixed asset has a value at
the end of its life, which we will call its disposal value, then the cost which has
to be spread over the life of the asset should be reduced by that disposal value.
For example, let us suppose that the fixed asset referred to previously, which cost
the business £20,000, has a disposal value after 5 years, its expected useful life,
of £2,000. The cost which we now have to spread over 5 years is £18,000 (£20,000
less £2,000) or £3,600 each year.

11.4 The balance sheet value of fixed assets

So far we have indicated that depreciation spreads the cost — that is to say, the
amount of the depreciation charge will be an expense to the profit and loss
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account. Because of this it reduces the amount of our net profit by the amount of
that charge, as compared with what the profit would have been if we had not
charged depreciation. While this is perfectly true, we must also consider the value
at which the fixed asset will be shown in the balance sheet. The balance sheet
value of a fixed asset will be its original cost less the sum of all depreciation
charges to date. We call this value its net book value.

We shall now show how, on the basis of the figures in Section 11.2 above, the
profit and loss account depreciation charge and balance sheet value would be
affected. The machine originally cost the business £20,000, and if there were no
depreciation charge, that is the value at which it would appear in the balance
sheet. However, in year 1 we charge to the profit and loss account a depreciation
charge of £3,600 and the balance sheet value will be £16,400 (£20,000 less
£3,600). In each of years 2 to 5 we charge £3,600 to our profit and loss account,
and our balance sheet values of the fixed asset would be as follows:

atend of year 2 £12,800 (£16,400 less £3,600)
atend of year 3  £9,200 (£12,800 less £3,600)
at end of year 4  £5,600 (£9,200 less £3,600)
atend of year 5 £2,000 (£5,600 less £3,600)

At the end of year 5 we can see that the balance sheet value is equivalent to its
estimated disposal value or scrap value.

11.5 Methods of depreciation

There are several methods of calculating the depreciation charge or methods of
spreading the cost.

(a) Straight Line Method

The straight line method is the method which we have used in the example above,
where the total depreciation charge (that is, cost less residual value) is spread evenly
over its expected useful life. With this method the charge for depreciation is the
same in each year and is therefore appropriate where each year enjoys equal bene-
fits from the use of the asset.

(b) Reducing Balance Method

The reducing balance method calculates the depreciation charge as a percentage
of the net book value at the previous accounting period end. For example, an
asset costs a business £20,000 and it is decided to depreciate it at a rate of 40 per
cent per annum on the basis of the reducing balance method.

Depreciation charge for year Net book value at year end
Year 1 £8,000 £12,000 (£20,000 less £8,000)
Year 2 £4,800 (40 per cent x £12,000) £ 7,200 (£12,000 less £4,800)
Year 3 £2,880 (40 per cent x £7,200) £ 4,320 (£7,200 less £2,880)
Year 4 £1,728 (40 per cent x £4,320) £ 2,592 (£4,320 less £1,728)

We can see that the depreciation charge is substantially higher in the earlier years
and can therefore be considered to be appropriate where the business enjoys
greater benefit from the asset in its early years because of, for example, greater
efficiency. Another argument for the use of this method is in cases where repair
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and maintenance costs are higher in the later years and these higher costs are then
offset by a lower depreciation charge.

From the practical viewpoint, the reducing balance method has the disadvantage
that the asset is never fully depreciated. Further, a much higher charge is needed
in the early years when compared with the straight line method if the same
residual value is to be achieved at the end of its useful life. This method is also
referred to as the diminishing balance method.

(c) Machine-hour Method

The machine-hour method, not commonly used, involves taking the total depre-
ciation charge and dividing it by the estimated useful life in hours. The deprecia-
tion charge for a period is then calculated by reference to the number of hours
that the machine is used in that period. For example, cost of machine is £20,000,
residual value £2,000 and estimated life 36,000 hours. If the usage in year 1 were
9,000 hours, depreciation would be calculated as follows:

£18,000 (total depreciation charge) _ £0.50 per hour
36,000 hours (estimated life) )

Depreciation charge for year 1 : 9,000 hours at £0.50 = £4,500.

(d) Revaluation Method

The revaluation method is only appropriate for such assets as small tools where
there are several small items of low value but nonetheless of lasting value. The
depreciation charge is arrived at by comparing the period end valuation of the
asset with last period end’s valuation as increased by new purchases during the
period. For example, at 31 December 1984 a business has loose tools with a value
of £400 and purchases new tools during 1985 costing £350. At 31 December1985
the value of loose tools is £550. Depreciation charge for 1985 would be £200, as
follows:

£
Valuation at 1 January 1985 400
Purchases during 1985

350
750
less Valuation at 31 December 1985 550
Depreciation charge 1985 £200

11.6 Other factors

74

We have already stated that the object of depreciation is to write off the cost of
the asset (less disposal value) over its expected useful life. We must realise that its
balance sheet value will be equal to its cost less amounts of depreciation charged
to date. The balance sheet value or net book value does not purport to be the
amount for which it could be sold or could be replaced. This is a very important
point to realise when looking at the balance sheet of a business.

Another point to be clearly understood is that depreciation has nothing to do
with putting aside money to replace an asset. Similarly, we must realise that cash
will not necessarily be available to replace that fixed asset. Depreciation writes off
the expense of a fixed asset which has already been incurred.



11.7 Accounting entries

We have already seen that the amount of depreciation both creates a charge
against profits and reduces the value of the fixed asset in the balance sheet. There
are two methods of recording the depreciation, with the same end result.

(a) Method 1

In the first method accounting entries here are

Dr. Depreciation expense account
Cr. Fixed asset account

The balance on the depreciation expense account is transferred at the accounting
period end to the profit and loss account.

(b) Method 2

The second method uses a depreciation provision account and the entries are

Dr. Depreciation expense account
Cr. Depreciation provision account

The balance on the depreciation expense account is transferred to the profit and
loss account as with method 1, while the balance on the depreciation provision
account is deducted from the cost of the fixed asset in the balance sheet. The
balance on the depreciation provision account is carried forward to the next
account period and is added to each year by repeating the entry above. The
net book value of the asset will then be its original cost (as recorded in the fixed
asset account) less the balance on the depreciation provision account.

11.8 Fixed asset disposals

When a business sells a fixed asset, there will usually be a profit or loss on disposal.
This will be the difference between the sale proceeds and the net book value of the
asset. This amount must be debited (if a loss) or credited (if a gain) to the profit
and loss account as a gain or loss on disposal of fixed assets. This gain or loss
could also be described as a depreciation adjustment, since it reflects an over- or
under-charge for depreciation in previous periods.

The accounting entries to deal with the disposal are as follows:

(a) Dr. Fixed asset disposal account
Cr. Fixed asset account (with the original cost of the fixed asset)
(b) Dr. Fixed asset depreciation provision account
Cr. Fixed asset disposal account (with the depreciation provided to date on
that fixed asset)

The balance on the fixed asset disposal account now represents the net book value
of the asset disposed of. If no separate depreciation provision account is main-
tained, the net book value of the asset should be transferred direct from the fixed
asset account to the fixed asset disposal account.
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11.9 Assets

(c) Dr. Bank account
Cr. Fixed asset disposal account (with the sale proceeds of the fixed asset)

If the asset is disposed of, other than for cash, the personal account of the person
acquiring the fixed asset should be debited rather than bank account.

The balance on the fixed asset disposal account now represents the profit or
loss or disposal and should be transferred to the profit and loss account.

purchased/sold during year

When an asset is purchased or sold during the year, we must consider how much
depreciation is to be charged for the year during which it is purchased or sold.
You must read the examination question carefully to tackle this point, but any
of the following may happen:

(a) no depreciation during year of purchase or sale;

(b) one half-year’s depreciation in year of purchase or sale;

(c) depreciation calculated pro rata to number of months owned by business
(you should assume this method if the question does not tell you otherwise).

11.10 Worked examples
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Example 11.1

(a)

Motor Vans Account
1981 £
1Jan T. Weldon 30,000

Provision for depreciation

31 Dec. £

1981 Profit and loss 3,000
1982 Profit and loss 2,700
1983 Profit and loss 2,430
1984 Profit and loss 2,187

The above accounts refer to motor vans purchased. Study the accounts and answer the
following questions.

(i) Were the vans paid for immediately or were they bought on credit?
(i) What method of calculation is being used for the depreciation?
(iii) Give the figure of percentage being used for depreciation.
(iv) What is the value of the motor vans shown in the Balance Sheet dated 31 December
19837

Rewrite the account for the years 1981 and 1982 in the alternative form in which the
depreciation appears in the same account as the motor vans. Balance the account at the end
of each year.

(b) Hotels often use the revaluation method for calculating depreciation on glass, china,
etc. An hotel valued its glass and china at £870 on 1 January 1983, purchased £700
worth during the year and then valued its stock at £1,100 at the end of the year. How
much should appear in the hotel’s accounts as depreciation for the year ended 31
December 1983?

(c) Name two other items of capital equipment for which the revaluation method of
depreciation is most suitable. (L)



Solution 11.1

(a) (i) Credit, since the account of T. Weldon has been credited.
(ii)) Reducing balance method.

(iii) 10 per cent (

£3,000
30,000

X 100)

(iv) £19,683 (30,000 — (3,000 + 2,700 + 2,430 + 2,187))

Motor vans account

1981 £ 1981 £
Jan.1 T.Weldon 30,000 Dec.31 Profit and loss 3,000
Dec.31 Balance c¢/d 27,000
30,000 30,000
1982 1982
Jan.1 Balance b/d 27,000 Dec. 31 Profit and loss 2,700
Dec.31 Balance ¢/d 24,300
27,000 27,000
1983 £
Jan.1 Balance b/d 24,300
(b)
£470 (as below)
Glass and china
£ £
Jan.1 Balance b/d 870 Dec.31 Profit and loss 470
Dec. 31 Bank 700 Dec.31 Balance b/d 1,100
1,570 1,570
Jan.1 Balance 1,100

(c) Small tools, jigs, dies.

Example 11.2

Answer each of the following questions:

(a)

(b)

(©)

On 1 January 1978 P. Williams bought a new machine for £3,000. On 31 December
1978 and at the end of every year thereafter 10% of cost was credited to a Provision for
Depreciation Account. The machine was sold on 5 January 1982 for £2,000.

Write up a Machine Disposal Account on 5 January 1982 showing clearly the amount to
be debited or credited to a Profit and Loss Account to cover the over or under depreciation.
On 1 January 1979 W. Elder bought a new motor van. The van, which cost £4,000, was
depreciated every year by 10% of the diminishing balance. The financial year ends on
31 December.

On 2 January 1982 W. Elder sold the van for £2,000.

W. Elder did not keep a separate Provision for Depreciation Account but entered the
amount at the end of every year in the van account.

Write up W. Elder’s van account for the period 1 January 1979 to 2 January 1982, show-
ing clearly the amount of under or over depreciation to be debited or credited to the
profit and loss account.

Outline the revaluation method of calculating depreciation.

On 1 January 1981, W. Beach owned small tools to the value of £4,180.
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During the year he purchased new tools at a cost of £427.
On 31 December 1981 he valued his tools at £4,250.
Write up a small tools account showing the amount to be written off to profit and loss.

(L)
Solution 11.2
()
Machinery disposal
1982 £ 1982 £
Jan.5 Machinery 3,000 Jan. § Depreciation provision (1) 1,500
Jan.5 Profit and loss (2) 500 Jan. 5 Bank 2,000
3,500 3,500
NOTES
(1) 5 years at 10 per cent per annum.
(2) Balancing figure.
(b)
Van
1979 £ 1979 £
Jan.1 Bank 4,000 Dec. 31 Profit and loss 400
Dec. 31 Balance c¢/d 3,600
4,000 4,000
1980 1980
Jan.1 Balance b/d 3,600 Dec. 31 Profit and loss 360
Dec. 31 Balance c/d 3,240
3,600 3,600
1981 1981
Jan.1 Balance b/d 3,240 Dec. 31 Profit and loss 324
Dec. 31 Balance c/d 2916
3,240 3,240
1982 1982
Jan.1 Balance b/d 2916 Jan. 2 Bank 2,000
Jan.2  Profit and loss (1) 916
2916 2916
NOTE
(1) Balancing figures.
(c) Refer to Section 11.5(d).
Small tools
£ £
Jan.1 Balance b/d 4,180 Dec. 31 Profit and loss 357
Dec. 31 Bank 427 Dec.31 Balance c/d 4,250
4,607 4,607

Jan.1 Balance b/d 4,250



11.11 Further exercises

Question 11.1

(a) Name, and describe briefly, two ways of calculating depreciation and give a numerical

example of each. [8 marks]

(b) Explain two ways in which depreciation can be entered into the books of account and

the effect of these entries on the balance sheet. [7 marks]
Answer 11.1

(a) (i) Straight line (Section 11.5).
(ii) Reducing balance (Section 11.5).

(b) (i) Use of depreciation provision account (Section 11.7).
(ii) Direct to asset account (Section 11.7).

Question 11.2

1983 PREMISES ACCOUNT Dr. Cr. Balance

Jan. 1 Balance b/d 20,000 £20,000

April 1 Bank CB 8,000 £28,000

June 30 Repairs J 690 £28,690

Nov. 30 Rates J 2,400 £31,090

EXAMINE the above ledger accounts, then ANSWER THE FOLLOWING QUESTIONS.
Marks

(a) STATE why the entries for June 30 and Nov. 30 are incorrect. 2

(b) Give the JOURNAL ENTRIES to correct these errors. 4

(c) If the rate of depreciation is set at 25 per cent per annum (using the Fixed
Instalment/Straight Line method of calculation), CALCULATE the amount
of depreciation for the year ending 31 December 1983. 3
(d) Give the JOURNAL ENTRY to show the depreciation entry in the necessary
account. You should assume that a Provision for Depreciation on Premises
account is kept. 2
(SEB)

Answer 11.2

(a) (i) June 30 Repairs should be debited to an expense account, not debited
to the fixed asset account.
(ii) Nov. 30 Rates should be debited to an expense account, not debited to
the fixed asset account.

Neither of the above increases the value of the fixed asset.

(b) @) Dr. Cr.
£ £
Building repairs 690
Premises 690
(ii) Rates 2,400

Premises 2,400
Note: Add suitable narrations.

(c) 25 per cent x £20,000 = £5,000

25 per cent x £8,000 xf5 = £1,500
Total depreciation expense of £6,500
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(d) Dr. Cr.
Depreciation expense 6,500

Depreciation provision 6,500
Being depreciation expense for year

Question 11.3

Stuart Bennet owned a confectioner’s retail shop and catering business. The following list of
balances was extracted from his books on 31 May 1984:

£
Purchases 20,000
Sales and catering contracts 50,000
Stock of provisions 1 June 1983 3,300
Debtors (catering contracts) 2,700
Rates 900
Trade creditors 3,600
Provision for doubtful debts 600
Wages 10,200
Motor van expenses for catering contracts 1,000
Light and heating 4,000
Kitchen equipment (cost £6,500) 5,200
Crockery and cutlery 2,100
Motor van (cost £3,000) 2,000
Drawings 5,000
Cash in hand 100
Cash in bank (Dr.) 1,900
Fixtures and fittings (cost £5,000) 3,800
Premises 60,000
Goodwill 20,000
Capital 88,000

From the above balances you are required to prepare a trial balance and a trading and profit
and loss account for the year ended 31 May 1984, and a balance sheet as at that date. The
following information should be taken into account:

(a) Stock of provisions at 31 May 1984 was £2,800.

(b) Depreciation on fixtures and fittings, the motor van and kitchen equipment is to be
calculated at 20 per cent on written-down value, and crockery and cutlery has been
revalued at £1,600.

(c) A debtor has been declared bankrupt and £500 is to be written off as a bad debt.

(d) Provision for doubtful debts is to be adjusted to 10 per cent of £2,200.

Answer 11.3
Trial balance
Dr. Cr.
£ £
Purchases 20,000
Sales 50,000
Stock 1 June 1983 3,300
Debtors 2,700
Rates 900
Trade creditors 3,600
Provision for doubtful debts 600
Wages 10,200
Motor van 1,000

Lighting and heating 4,000



Kitchen equipment 5,200

Crockery and cutlery 2,100
Motor van 2,000
Drawings 5,000
Cash in hand 100
Cash at bank 1,900
Fixtures and fittings 3,800
Premises 60,000
Goodwill 20,000
Capital 88,000

£142,200 £142,200

Trading profit and loss account of Stuart Bennett for year ended 31 May 1984

£
Sales 50,000
less Cost of sales (Working 1) 33,640
16,360
less
Rates 900
Bad debts 500
less Reduction in provision 380 120
Light and heating 4,000
Depreciation fixtures and fittings (20 per cent x £3,800) 760 5,780
Net profit £10,580
Balance sheet of Stuart Bennett at 31 May 1984
Fixed Assets £
Premises 60,000
Fixtures and fittings (£3,800 — £760) 3,040
Kitchen equipment (£5,200 — £1,040) 4,160
Motor vehicles (£2,000 — £400) 1,600
Crockery and cutlery 1,600
Goodwill 20,000
90,400
Current Assets
Stock 2,800
Debtors (Working 2) 1,980
Cash at bank and in hand 2,000
6,780
less Current Liabilities
Creditors 3,600
Working Capital 3,180
Net Assets £93,580
Capital Employed
Balance at 1 June 1983 88,000
add Net profit 10,580
98,580
less Drawings 5,000

Balance 31 May 1984 £93,580




WORKING 1

£
Stock 1 June 1983 3,300
Purchases 20,000
23,300
less Stock 31 May 1984 2,800
20,500
Wages (assumed catering staff) 10,200
Motor van expenses 1,000
Depreciation motor van (20 per cent x £2,000) 400
Depreciation kitchen equipment (20 per cent x £5,200) 1,040
Depreciation crockery and cutlery (£2,100 — £1,600) 500
£33,640

WORKING 2

Debtors per trial balance 2,700
less bad debt written off 500
2,200
less provision for doubtful debts 220
£1,980

Question 11.4

Explain the meaning of the phrase ‘depreciation of fixed assets’, and indicate THREE
methods by which the amount of depreciation for a year can be calculated.

(SUJB)
Answer 11.4

Refer to Sections 11.2, 11.5. Depreciation = spreading the cost, measure of
wearing out. Methods: straight line, reducing balance, machine-hour, revaluation.



12 Year End Adjustments

12.1 Introduction

In the examples which we have looked at so far we have considered that the
expenses and income which we have entered in our accounts relate exactly to the
period for which we are preparing the profit and loss account. For example, if
there was a debit of £550 on the rent account, we assumed that that was the rent
expense for that accounting period. We shall now consider the accounting treat-
ment where that is not the case and either there is rent owing at the balance sheet
date or there is rent paid in advance at the balance sheet date. In both of these
cases the amount appearing in our rent account does not represent the true rent
expense for that accounting period.

12.2 Accrued expenses

Let us consider the case where a business prepares its profit and loss account to
31 December in each year. The business pays rent two weeks after the end of each
quarter in respect of the previous three months. If the business first occupied the
premises on 1 January 1985 at a rental of £2,000 per annum, its rent account for
1985 will appear as follows:

Rent
£
April 14  Bank 500
July 14 Bank 500
Oct. 14 Bank 500

If we prepared our profit and loss account from the account as it stands, we
would show a rent expense of £1,500. This would clearly be incorrect, since the
annual rental is £2,000 and we have occupied the premises for the whole year. In
order that the correct amount of £2,000 be transferred to the profit and loss
account, we need to carry down a credit balance for the amount owing — that is,
£500. The rent account would then appear as follows:

Rent
1985 £ 1985 £
April 14  Bank 500 Dec.31 Profit and loss account 2,000
July 14 Bank 500
Oct. 14 Bank 500
Dec. 14  Balance ¢/d 500
2,000 2,000
1986
Jan. 1 Balance b/d 500
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In January 1986, when we pay the rent for the three months ended 31 December
1985, this will appear as a debit on the rent account reducing the balance to nil.
This process then continues until the next accounting period end, in this case
31 December 1986, when we examine the situation again to decide whether there
is an amount owing.

We have already seen that the balance of £500 on the rent account at 31
December represents the amount owing at that date, and as such it will appear in
the balance sheet as an amount owing under current liabilities. The same treat-
ment is applied to any expenses where there is an amount unpaid at the balance
sheet date representing expenses actually incurred before that date.

12.3 Prepayments

The opposite situation is where we pay an expense during one accounting period
which relates to the next accounting period. Let us consider a situation where the
same business as that mentioned in Section 12.2 pays an annual insurance premium
on 1 April 1985 of £1,000. If at 31 December we transferred the balance of
£1,000 to the profit and loss account, it would not reflect the true expense for
the accounting period, since £250 (1—32— x £1,000) relates to the next accounting
period. In order that the profit and loss account show the true expense of £750,
we need to carry down a debit balance on the account for the £250 prepaid. The
insurance account would then appear as follows:

Insurance
1985 £ 1985 £
April1  Bank 1,000 Dec. 31 Profit and loss account 750
Dec.31 Balance c¢/d 250
1,000 1,000
1986
Jan. 1 Balance b/d 250

The balance of £250 brought down into 1986 will then be transferred to the
profit and loss account at end of 1986 together with any further expense paid,
and after adjusting for any accrual or prepayment at 31 December 1986. In the
balance sheet at 31 December 1985 the debit balance of £250 will appear under
current assets as a prepayment. The reason for this is that it represents value due
to the business at that date.

12.4 Sundry stocks
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A year end adjustment should also be made in the case of expenses such as
stationery where a stock remains at the year end. The accounting treatment is
similar to that for prepayments in that a debit balance is carried down on the
expense account, thus decreasing the amount transferred to the profit and loss
account. The difference in treatment when compared with prepayments is in
the balance sheet treatment of the balance carried down. In the case of sundry
stocks it should be shown as such on the balance sheet and not as prepayments.



12.5 Summary

12.6

We can summarise the effect on the final accounts of a business of accruals and
prepayments as follows. An accrual or amount owing will be added to the amount
of the expense which is transferred to the profit and loss account and will also
appear under current liabilities as an expense creditor. A prepayment will reduce
the amount of an expense transferred to the profit and loss account and will also
appear under current assets as a prepayment.

From the above and from Chapter 11, on depreciation, you should notice that
all accounting adjustments will affect two items in our final accounts. When we
made a depreciation adjustment, we created an expense and reduced the value of
the fixed asset. When making any year end adjustments, you should always ensure
that two items or accounts are affected. It is often a good idea in examinations
to write the names of the two accounts against the adjustment on your examina-
tion paper and place a mark against them when you adjust that account. If you do
this and you have difficulty in making the balance sheet agree, you can look back
to these items to ensure that they are properly ticked.

Worked examples

Example 12.1

The following balances were extracted from the books of S. Charles, a retail trader, on 30th
June, 1982:

Dr. Cr.
£ £

Purchases and Sales 71,400 123,600
Returns Inwards and Outwards 1,600 2,400
Carriage on Purchases 860
Carriage on Sales 990
Buildings (at cost price) 100,000
Furniture and Fittings (at cost price) 10,000
Provisions for Depreciation

Buildings 50,000

Furniture and Fittings 2,000
Debtors and Creditors 44,000 9,610
Stock 1st July, 1981 9,400
Lighting and Heating 5,390
Office salaries and expenses 10,000
Discounts allowed and received 620 990
Provision for Doubtful debts 1,200
Insurance 1,100
Rent and Rates 3,000
Cash Balance 510
Bank Balance 2,490
Capital 66,580

£258,870 £258,870

From the above information and the notes below YOU ARE REQUIRED to prepare a
Trading and Profit and Loss account for the year ended 30th June, 1982.
A BALANCE SHEET IS NOT REQUIRED.
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FULL WORKING FOR ALL ADJUSTMENTS MUST BE SHOWN AND CLEARLY

LABELLED.
NOTES
(1) There were no amounts owing or prepaid at the START of the year on 1 July 1981.
(2) Stock 30 June 1982 ... £10,300.
(3) Rent and Rates had been paid up to 30 September 1982. There has been no change
in the annual amounts charged for Rent and Rates since 1 July 1981.
(4) The following amounts were unpaid at 30 June 1982:
(i) Office expenses . . . £900 (ii) Lighting and Heating . . . £400.
(5) Depreciation is to be calculated as follows:
(i) Buildings at 5 per cent per annum by the STRAIGHT LINE (FIXED INSTAL-
MENT) METHOD.
(ii) Furniture and Fittings at 10 per cent per annum by the REDUCING BALANCE
METHOD.
(6) Commission payable to salesmen at 1 per cent on Net Sales has not yet been paid.
(7) Provision for Doubtful Debts is to be adjusted to 2% per cent of Debtors.
(8) Office Expenses included the following items:

(i) Private drawings of £400 by S. Charles.
(ii) Private telephone calls totalling £14 by S. Charles.
(SEB)

Solution 12.1

Trading and profit and loss account of S. Charles for year ended 30 June 1982

£
Sales 123,600
less returns inwards 1,600
122,000
less Cost of sales
Stock 1 July 1981 9,400
Purchases 71,400
less returns outwards 2,400
69,000
add carriage on purchases 860 69,860
79,260
less Stock 30 June 1982 10,300
Cost of sales 68,960
Gross profit 53,040
add Discounts received 990
add Reduction in provision for doubtful debts 100
54,130
less
Carriage on sales 990
Lighting and heating (£5,390 + £400) 5,790
Office salaries and expenses (£10,000 + £900 — £414) 10,486
Discounts allowed 620
Insurance 1,100
Rent and rates (£3,000 — £750) 2,250
Depreciation buildings (5 per cent x £100,000) 5,000
Depreciation furniture and fittings (10 per cent x £8,000) 800
Commission 1,220 28,256
Net profit 25874



Note: Although not required by the question, a balance sheet is shown below

to complete the illustration.
Balance sheet of S. Charles at 30 June 1982

Fixed Assets Cost Depreciation Net book
value
£ £ £
Buildings 100,000 55,000 45,000
Furniture and fittings 10,000 2,800 7,200
110,000 57,800 52,200
Current Assets
Stock 10,300
Debtors 44,000
less provision for doubtful debts 1,100 42,900
Prepayment 750
Cash 510
54,460
less Current Liabilities
Creditors 9,610
Expense creditors (£900 + £400 + £1,220) 2,520
Bank overdraft 2,490 14,620
Working capital 39,840
£92,040
Capital Employed
Capital balance 1 July 1981 66,580
add net profit 25,874
92,454
less drawings (£400 + £14) 414 £92,040
Example 12.2

Mr J. Shaw’s first year in business as a retailer and general dealer ended on 31 January 1983.
He has submitted to you, for checking, his final accounts for the year to 31 January 1983,
showing a net profit of £8,170, and his balance sheet as at 31 January 1983.

The balance sheet he had prepared is shown below:

Balance Sheet for first year, ending 31 January 1983

£ £

Stock 9,150 Trade creditors 10,360
Cash in hand 180 Loan 4,000
Vehicles (cost) 8,300 Capital, 1 February 1982 20,000
Trade debtors 12,210
Drawings £9,500
Net profit £8,170 1,330
Fixtures and fittings (cost) 2,650
Cash at bank 540

34,360 34,360

You agree with his profit calculation and with the amounts shown for the items in the
balance sheet, apart from the following:

(a) No depreciation had been included in the profit calculation. Depreciation should have
been calculated by the ‘straight line’ (‘equal instalment’) method, assuming for the
fixtures and fittings a life of 10 years, with no residual value, and for the vehicles a life
of 4 years and residual value £700.
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(b) The loan was obtained from Superior Finance Co. on 1 October 1982 and interest is
payable from that date at the rate of 15 per cent per annum. The loan is to be repaid
in full on 30 September 1984. No interest has been paid so far and no entries in respect
of the loan interest have been made in the accounts.

(c) Mr Shaw pays the rent of his business premises monthly in advance. The rent for February
1983, £160, was paid in January 1983 and charged by Mr Shaw against the profits of
his first year’s trading.

(d) Mr Shaw had included his unsold stock in the final accounts and balance sheet at selling
price (£9,150). To determine the selling price of his goods, Mr Shaw adds 50 per cent to
the cost price.

You are asked:
(1) to calculate the working capital from the balance sheet as it was prepared by Mr Shaw;
(2) to re-calculate the net profit for the first year, showing all your working;
(3) to re-draft the balance sheet, improving the presentation and incorporating any changes
needed in view of items (a) to (d) above.
(OLE)

Solution 12.2

(1) Working capital as given. Stock £9,150, add cash £180, add debtors £12,210,
add bank £540, less creditors £10,360=£11,720

(a) no effect

(b) less interest payable (expense creditor) (15 per cent x 15 x £4,000) 200
11,520
(¢) add prepayment 160
11,680
(d) less reduction in stock valuation (£9,150 x £5%5) (1) 3,050
Working capital (revised) £8,630
NOTE
(1) Cost structure is as follows Cost price 100
Gross profit 50
Selling price 150
£
(2) Net profit as given 8,170
(a) less depreciation — fixtures and fittings
(10 per cent x £2,650) 265
— vehicles
(25 per cent x £7,600) 1,900
2,165
(b) less interest owing (15 per cent x {5 x £4,000) 200
(c) less reduction closing stock (9,150 x £5%) (1) 3,050 5415
2,755
(d) add rent prepaid 160
Net profit (adjusted) £2 915
NOTE

(1) Reduction in closing stock increases cost of sales, thus decreasing gross profit
and, hence, net profit.



(3) Balance sheet of J. Shaw at 31 January 1983

Fixed Assets Cost Depreciation Net book value
£ £ £
Fixtures and fittings 2,650 265 2,385
Vehicles 8,300 1,900 6,400
10,950 2,165 8,785
Current Assets
Stock (£9,150 — £3,050) 6,100
Debtors 12,210
Prepayments 160
Cash at bank 540
Cash in hand 180
19,190
less Current Liabilities
Creditors 10,360
Interest payable 200 10,560
Working capital 8,630
Net Assets £17,415
Financed by:
Capital (balance 1 February 1982) 20,000
add Net Profit 2915
22915
less drawings 9,500
Capital (balance 31 January 1983) 13,415
Loan 4,000
£17,415

Example 12.3

On the last day of his account year, 31 January 1982, three of the accounts in a merchant’s
ledger were: Stationery Account; Rent and Rates Account; Provision for Depreciation
(Office Equipment) Account.

In the Stationery and Rent and Rates Accounts, there are debit entries only, totalling
£1,240 (Stationery) and £3,170 (Rent and Rates). Provision for Depreciation (Office Equip-
ment) Account shows a credit balance of £1,830, which had been brought down on 1
February 1981.

At 31 January 1982, £196 is owing for rent, rates have been paid in advance by £140 and
the stock of stationery is valued at £325. Further provision for depreciation on office equip-
ment is to be made in respect of the year to 31 January 1982 by the reducing balance method
at 20 per cent per annum. The original cost of the firm’s office equipment was £3,750.

You are asked:

(a) to open the three ledger accounts with the balances indicated and make all the further
entries required in them at year-end;
(b) to show how the balances carried down on these accounts on 31 January 1982 would
appear on the Balance Sheet of that date.
(OLE)
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Solution 12.3

12.7 Further exercises
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(@)
Stationery
£ £
Jan.31 Balance b/d 1,240 Jan.31 Balance c/d 325
Jan. 31  Profit and loss account 915
1,240 1,240
Feb. 1 Balance b/d 325
Rent and rates
£ £
Jan.31 Balance b/d 3,170 Jan. 31 Balance c¢/d 140
Jan. 31 Balance c/d 196 Jan. 31 Profit and loss account 3,226
3,366 3,366
Feb. 1 Balance b/d 140 Feb. 1 Balance b/d 196
Provision for depreciation (office equipment)
1982 £ 1981 £
Jan. 31 Balance c/d 2,214 Feb. 1 Balance b/d 1,830
1982
Jan. 31 Profit and loss account (1) 384
2,214 2,214
Feb. 1 Balance b/d 2,214
NOTE
(1) 20 per cent x (£3,750 — £1,830) = £384.
(b)
Stationery account — Current assets (stock) £325
Rent and rates account — Current assets (prepayment) £140
Current liability (expense creditor) £196
Provision for depreciation — deduct from office equipment (fixed asset)
Question 12.1
(a) Explain, using figures, what is meant by the terms
(i) accrued expense;
(ii) prepaid expense. [4 marks]
(b) Using your figures from part (a),say how the relevant ledger accounts would be adjusted
at period end for accrued and prepaid expenses. [4 marks]
(c) Explain the effect and the significance on the balance sheet of accounting for
(i) accrued expenses;
(ii) prepaid expenses. [7 marks]
(AEB)



Answer 12.1
Refer to Sections 12.2 and 12.3.

Question 12.2

The draft trading and profit and loss account of a business show a profit for the year of

£10,320.

On examination, however, the following matters were discovered:

(a) an item of £230 had been omitted from the valuation of the stock-in-trade;

(b) no account had been taken of electricity bills outstanding of £80;

(c) no entry had been made for rates paid in advance amounting to £150;

(d) carriage inwards, amounting to £75, had been credited to the profit and loss account;
(e) depreciation of £630 on plant and machinery had been omitted.

Draw up a statement to show the corrected profits after making adjustments for the above
items and indicate the adjustments which will become necessary in the Balance Sheet.

Answer 12.2
Net profit as calculated 10,320
add (a) increase in closing stock 230
(c) rates prepaid 150
10,700
less (b) accrued electricity 80
(d) carriage inwards (2 x £75) 150
(e) depreciation 630 860
Net profit revised £9,840

Question 12.3

(SUJB)

The following trial balance was extracted from the books of the Sunnyside Holiday Caravan

Site on 30 September 1983:

£ 000
Capital, 1 October 1982
Rents received for use of sites and vans
Vans owned by proprietor of site 25
Shop sales
Shop purchases 45
Rates 25
Electricity 7
Commission received on sale of vans
Shop furniture and fittings 10
Land and buildings 140
Maintenance tools and equipment 70
Shop wages 5
Maintenance wages 25
Proprietor’s cash drawings 7
Stock taken from shop for proprietor’s own use 1
Insurance 13
Sundry site expenses 4
Creditors for shop supplies
Cash in hand and at bank 13

390

£ 000
175
140

70
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Take into account the following:

(i) Of the electricity accounts paid, £5,000 is to be charged to permanent tenants for
power used in their vans. The accounts have been sent out but no cash has yet been
received. £1,000 is the cost of the general lighting of the site and the remaining £1,000
is the cost of power used in the proprietor’s private house.

(i) £1,000 of the rates paid covers the amount due on the proprietor’s house.

(iii) Of the insurance paid, £2,000 is in advance at 30 September 1983.
(iv) All shop stocks are cleared at the end of season.
(v) Depreciation to be charged at the following rates:

Vans 20 per cent of book value

Maintenance tools and equipment 10 per cent of book value

Shop furniture and fittings 10 per cent of book value
Prepare

(a) A shop trading account for the year ended 30 September 1983.
(b) A profit and loss account for the site for the year ended 30 September 1983 and a
Balance Sheet on that date.

(L)

Answer 12.3

(a) Shop trading account of Sunnyside Holiday Caravan Site for year ended
30 September 1983

£000
Sales 70
Purchases 45
Gross profit 25

(b) Profit and loss account of Sunnyside Holiday Caravan Site for year ended
30 September 1983

£000

Shop net profit (£25,000 — £5,000 — £1,000) (1) 19

Rents received 140

Commission on sale of vans 3

162

less

Rates (£25,000 — £1,000) 24
Electricity (£7,000 — £5,000 — £1,000) 1
Maintenance wages 25
Insurance (£13,000 — £2,000) 11
Sundry site expenses 4
Depreciation — vans 5

— maintenance tools 7 77
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NOTE
(1) Shop net profit is gross profit less wages £5,000 and depreciation of shop
furniture and fittings £1,000.

Balance sheet of Sunnyside Holiday Caravan Site as at 30 September 1983

Fixed Assets £ 000
Land and buildings 140
Shop furniture and fittings 9
Maintenance tools and equipment 63
Vans 20

232

Current Assets
Prepayments 2
Tenants (electricity) 5
Cash in hand and at bank _1}_

20

less Current Liabilities
Creditors 2

Working Capital 18

Net Assets £250

Financed by:

Capital (balance 1 October 1982) 175
add net profit 85
260

less drawings (£7,000 + £1,000 + £1,000 + £1,000) (1) 10
£250

NOTE

£000
(1) Drawings Cash 7
Electricity 1
Rates 1
Stock 1
£10

Question 12.4

(a) For each of the situations given below, explain

(i) how each would be entered into the firm’s ledger accounts;

(ii) the effect of each of these entries on the firm’s balance sheet:

(1) bad debts to be written off;

(2) decreasing a provision for bad debts;

(3) creating a provision for depreciation;

(4) adjusting a rent receivable account for an amount in arrears at year end. [12 marks]
(b) What is the general significance to the firm’s balance sheet of adjusting for such items as

(1) to (4) above? [3 marks]
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Answer 12.4

(a) (1) (i) dr. bad debts written off a/c, cr. debtors.
(ii) Reduce debtors and net profit; hence, capital.
(2) (i) dr. bad debts provision a/c, cr. profit and loss account.
(ii) Decrease provision for bad debts; hence, increase debtors, increase
profit hence capital.
(3) (i) dr. depreciation a/c, cr. fixed asset a/c or depreciation provision
account.
(ii) Reduce profits hence capital, reduce value of fixed assets.
(4) (i) Carry down debit balance on rent receivable account.
(ii) Increase profit hence capital, increase debtors.

(b) Refer to Chapters 9, 11 and 12. To show assets at a fair valuation to business
and recognise amounts due.

Question 12.5

S. Harrison and Co. keep one account in their Ledger for the rates and insurance on their
business premises. Their accounting year runs from 1 July to 30 June.

The local authority’s accounting year runs from 1 April to 31 March; rates are demanded in
two equal instalments each year. The following payments for rates were made by Harrison
and Co.:

28 April 1984, £318.00 (for the period 1 April 1984 to 30 September 1984).
26 October 1984, £318.00 (for the period 1 October 1984 to 31 March 1985).
25 April 1985, £332.00 (for the period 1 April 1985 to 30 September 1985).

The premises were insured for £76,000 (for 1984) and £80,000 (for 1985). The annual
insurance premium, calculated at the rate of 15 pence per £100, is payable in advance for
the period 1 January to 31 December. The premiums were duly paid by Harrison and Co. on
28 December 1983 (for 1984) and 29 December 1984 (for 1985).
You are asked:
(a) to prepare the Rates and Insurance Account in Harrison and Co.’s Ledger for the year
to 30 June 1985;
(b) to say what entries in respect of rates and insurance you would expect to find in Harrison

and Co.’s Balance Sheet at 30 June 1985. [18]
(OLE)
Answer 12.5
(a)
Rates and insurance account
1984 1985
July 1 Balance b/d (1) 5,859 June 30 Profit and loss
Oct. 26  Bank (rates) 318 (balancing figure) 12,343
Dec.29  Bank (insurance) 12,000 June 30 Balance c¢/d (2) 6,166
1985
Apr.25  Bank (rates) 332
_18,509 18,509
July 1 Balance b/d 6,166
WORKINGS
(1) 1 July 1984 prepaid rates 6/12 x£318 = 159
prepaid insurance 6/12 x (15% of £76,000) 5,700
£5,859



(2) 30 June 1985 prepaid rates 6/12 x £332
prepaid insurance 6/12 x (15% of £80,000)

(b)
30 June 1985 Balance Sheet extract
Prepayments

166
6,000

£6,166

£6,166
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13 Departmental Accounts

13.1 Introduction

One of the reasons for keeping accounts is to provide information for the owners
and management of the business. One of the important areas of information
relates to the profitability of the business. It is obviously important to know the
overall or total profit of the business, but in the case of a business running separate
departments or selling distinct and separate products it is also useful to know the
profit made by each department or earned by each product. This is the purpose of
departmental accounts: to provide us with information regarding profitability of
separate departments.

We can use this information in various ways. We can compare one department
with another with a view to taking action to improve the profitability of the least
profitable department. Also, we can ensure that losses within one particular
department are not hidden by the overall profit of the business, and, following
on from this, we can calculate the effects of closing down any one department.

13.2 Expenses

If we are to calculate the profit of each department, we have to consider how we
intend to apportion expenses between departments. There are many and varied
bases for doing this, and each business will use bases for apportioning its various
expenditures that it considers to be the most logical in the circumstances.

The following list is not exhaustive but will give some ideas of possible bases.

Expense Basis of apportioning

Rent and rates Floor area

Canteen costs Number of employees

Salaries and wages Time spent in each department
Power, heating and lighting  Actual metered units

Selling expenses Sales value

13.3 Preparation of departmental accounts
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When tackling examination questions on departmental accounts, you should
prepare the final accounts in the usual way, as already illustrated, but draw up
alongside columns for each department or product. If you complete the total
columns first for the whole business, you can then go back and apportion the
costs as required to the other columns.



13.4 Worked examples
Example 13.1

D. Bird owns a retail store with two departments, one dealing in electrical goods and the
other in furniture. The following information has been extracted from his books for the
year ended 31 December 1985:

£

Premises at cost 26,000
Capital 50,400
Drawings 9,500
Fixtures and fittings at cost 12,000
Motor vehicles at cost 11,000
Provisions for depreciation:

fixtures and fittings 4,000

motor vehicles 5,000
Purchases:

electrical goods 27,950

furniture 50,850
Sales:

electrical goods 40,000

furniture 80,000
Debtors 4,130
Creditors 5,330
Salaries and wages 21,150
Rates and insurance 1,500
Motor vehicle expenses 3,000
Heating and lighting 2,500
Cash at bank 3,150
Stock (1 January 1985):

electrical goods 4,200

furniture 7,800

You are required to prepare trading and profit and loss accounts, in columnar form, to show
the gross profit and net profit for each department for the year ended 31 December 1985,
and a balance sheet for the whole business as at that date, taking into account the following
additional information:

(a) Stocks at 31 December 1985 were: Electrical goods £6,400
Furniture £8,700
(b) Fixtures and fittings should be depreciated at 15 per cent on cost and the motor vehicles
at 20 per cent on cost.
(c) The floor area occupied by the Electrical Goods Department is 120 square metres and
that of the Furniture Department is 180 square metres.
(d) Expenses are to be allocated between the departments on the following basis:
(i) Rates and insurance and heating and lighting in proportion to the departments’
floor areas.
(ii) Salaries and wages and motor vehicle expenses, other than depreciation, in propor-
tion to the turnover of each department.
(iii) Depreciation of fixtures and fittings and motor vehicles to be shared equally by the
two departments.
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Solution 13.1

Trading and profit and loss account of D. Bird for year ended 31 December 1985

Sales
Stock (1 January 1985)
Purchases

less Stock (31 December 1985)
Cost of sales

Gross profit

Salaries and wages

Rates and insurance

Motor vehicle expenses

Heating and lighting

Depreciation furniture and fittings
Depreciation motor vehicles

Net profit

Balance sheet of D. Bird as at 31 December

Fixed Assets

Premises
Fixture and fittings
Motor vehicles

Current Assets
Stock
Debtors
Cash at bank

less Current Liabilities
Creditors

Working capital
Net Assets

Capital (balance 1 January 1982)
add Net Profit

less drawings

Example 13.2

Electrical Furniture Total
£ £ £
40,000 80,000 120,000
4,200 7,800 12,000
27,950 50,850 78,800
32,150 58,650 90,800
6,400 8,700 15,100
25,750 49,950 75,700
14,250 30,050 44,300
7,050 14,100 21,150
600 900 1,500
1,000 2,000 3,000
1,000 1,500 2,500
900 900 1,800
1,100 11,650 1,100 20,500 2,200 32,150
2,600 9,550 12,150
1985
Cost Depreciation Net book value
£ £ £
26,000 26,000
12,000 5,800 6,200
11,000 7,200 3,800
49,000 13,000 36,000
15,100
4,130
3,150
22,380
5,330
17,050
£53,050
50,400
12,150
62,550
9,500
£53,050

Adam Parrish carried on a business as a wholesaler selling two distinct products, X and Y.
The following information was available on his activities for the year ended 31 March 1981.



Balances as at 1 April 1980

£
Freehold premises at cost 36,000
Capital 118,700
Motor vehicles at cost 20,000
Fixtures and fittings at cost 25,000
Stocks X 6,500
Y 26,000
Provisions for depreciation:
Motor vehicles 3,500
Fixtures and fittings 4,500
Balances as at 31 March 1981
Purchases X 35,000
Y 158,000
Sales X 43,500
Y 201,950
Sales returns X 3,500
Y 11,950
Purchase returns X 4,300
Y 14,900
Drawings 9,000
Trade creditors 21,000
Trade debtors 22,950
Balance at bank 18,900
Cash 3,050
Administration expenses 15,000
Selling expenses 21,500

The following further information had not yet been taken into account:

(i) during the year he had taken £450 of good X for his own use; the goods taken were
valued at cost price;
(ii) depreciation was to be provided as follows:
motor vehicles 20 per cent on cost
fixtures and fittings 10 per cent on cost;
(iii) stocks at 31 March 1981:

£
X 7,750
Y 31,200

(iv) commissions owing to sales men as at 31 March 1981 was £1,350;
(v) administration expenses paid for 1981/82 were £1,500.

REQUIRED
(a) Separate trading accounts for each of the products X and Y (columnar presentation may
be used) for the year ended 31 March 1981. [10 marks]
(b) A profit and loss account for the whole business for the year ended 31 March 1981.
[6 marks]
(c) A detailed statement of the working capital as at 31 March 1981. [6 marks]
(AEB)

Solution 13.2

Trading and profit and loss account of Adam Parrish for year ended 31 March
1981
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X
£
Sales 43,500
less sales returns 3,500
40,000
Stock (1 April 1980) 6,500 26,000
Purchases 35,000 158,000
less Purchases returns 4,300 14,900
30,700 143,100
37,200 169,100
less Stock taken for own use 450
36,750
less Stock (31 March 1981) 7,750 31,200
Cost of sales 29,000
Gross profit 11,000
less

Administration expenses (£15,000 — £1,500)

Selling expenses (£21,500 + £1,350)

Depreciation motor vehicles (20 per cent x £20,000)
Depreciation fixtures and fittings (10 per cent x £25,000)

Net profit

Y Total

£ £

201,950 245,450
11,950 15,450
190,000 230,000

32,500

193,000

19,200

173,800

206,300

450

205,850

38,950
137,900 166,900
52,100 63,100

13,500

22,850

4,000
2,500 42,850
20,250

A detailed balance sheet is not required but is shown here for illustrative

purposes.
Balance sheet of Adam Parrish at 31 March 1981

Fixed Assets Cost Depreciation Net book value
£ £ £
Premises 36,000 - 36,000
Fixtures and fittings 25,000 7,000 18,000
Motor vehicles 20,000 7,500 12,500
81,000 14,500 66,500
Current Assets
Stock 38,950
Debtors 22,950
Prepayments 1,500
Bank balance 18,900
Cash 3,050
85,350
less Current Liabilities
Creditors 21,000
Expenses creditors 1,350 22,350
Working Capital 63,000
Net Assets £129,500
Financed by
Capital (balance 1 April 1980) 118,700
add Net Profit 20,250



138,950
less drawings (£9,000 + £450) 9,450

£129,500

13.5 Further exercise

Question 13.1

Fairholm Ltd own a department store with three departments, and the following figures are
taken from their books for the year ended 31 December, 1982:

Sales £
Department A 125,000
Department B 86,000
Department C 75,000

Purchases
Department A 91,000
Department B 69,000
Department C 55,000

Stock 1 January 1982
Department A 8,930
Department B 6,110
Department C 6,850

Stock 31 December 1982
Department A 9,720
Department B 5,870
Department C 6,160

You find that purchases, amounting to £880, have been charged incorrectly to Department
C instead of Department B and that sales of £1,350 have been credited to Department A,
whereas £750 of this amount should have been credited to Department B and the balance
to Department C.

You are asked to prepare:

(a) a trading account for each department after making adjustments for the errors which
have been indicated (a columnar form of presentation would be appropriate);
(b) a statement showing the gross profit as a percentage of sales for each department.

(Calculations should be correct to one decimal place.) (SUJB)
Answer 13.1
(a)
Trading account of Fairholm Ltd for the year ended 31 December 1982
Department
A B C
£ £ £
Sales 123,650 86,750 75,600
Stock (1 Jan. 1982) 8,930 6,110 6,850
Purchases 91,000 69,880 54,120
99,930 75,990 60,970
less Stock (31 Dec. 1982) 9,720 5,870 6,160
Cost of sales 90,210 70,120 54,810
Gross profit 33,440 16,630 20,790
(b) Gross profit
Gross profit margin <S—1 X 100) 27.0% 19.2% 27.5%
ales
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14 Incomplete Records

14.1 Introduction

We have, in previous chapters, looked at the double-entry system of book-keeping.
The advantages of the system can be summarised as follows:

(i) There is a complete record of every transaction.
(ii) There is an arithmetical check on the accuracy of the figures.
(iii) Greater control can be exercised over the accounting records.
(iv) Certain subsidiary functions in larger businesses can be delegated to junior
staff.
(v) Greater reliability can be placed on the accounts produced from those records.

It would, however, be unrealistic to expect every business to maintain a full set of
accounting records using the double-entry system. Many smaller businesses have
neither the time nor the experience necessary to do so and can not afford the
expense of outside staff to keep such records.

However, every business needs to prepare accounts from time to time, if only
to show to the tax authorities, and in this chapter we shall be concerned primarily
with the preparation of accounts or at least the calculation of net profit where
the double-entry system of book-keeping is not employed. Using the same tech-
niques, we shall also examine how we can prepare accounts, even though rather
limited, when accounting records have been lost or destroyed, and we are in the
same position as if double-entry accounting records had not been kept. Finally,
we might also have to employ the same approach where stock has been physically
lost or destroyed and we need to make a calculation of that stock which has been
lost or destroyed.

14.2 Statement of affairs
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In Section 4.2 we stated that the only time owner’s capital is increased or de-
creased is when profits (or losses) are made or capital is introduced or withdrawn
from the business. Taking the worst situation, where there are no records of daily
transactions of the business, if we can construct a balance sheet at two dates, then
the difference between the two capital balances must be the profit earned by the
business, after adjusting for introductions and withdrawals of capital. We cannot,
however, construct a balance sheet if we do not have accounts from which to
extract balances, but if similar information can be obtained from the owner of the
business or elsewhere, we can construct a statement similar to a balance sheet,
which we call a statement of affairs. An example may make this clearer.

Dawn Guymer runs a small wholesale business and estimates the assets and
liabilities of the business at the following dates to be as stated.



31 Dec. 1985 31 Dec. 1984

Fixed Assets £ £
Fittings and equipment 6,000 5,100
Current Assets
Stock 1,000 1,095
Debtors 350 490
Bank 50 50
Cash 250 5
1,650 1,640
less Current Liabilities
Creditors 750 770
Rent owing 60 810 840 80 850 790
£6,840 £5,890
Financed by
Capital (balancing figure) 6,240 5,090
Loans 600 800
£6,840 £5,890

We can calculate that the capital account has increased by £1,150 (£6,240 —
£5,090). If there were no introductions or withdrawals of capital during the year,
then her net profit must have been £1,150, subject to the accuracy of the state-
ment of affairs. If fresh capital had been introduced by Dawn Guymer of £500,
then her profit would have been £500 less than £1,150 — that is, £650. If, on the
other hand, she had withdrawn cash of £1,100 from the business, then her profit
would have been £1,100 more than £1,150, making £2,250.

The above profit calculations can be restated by showing the movements in
capital as below:

£ £
Opening capital (1 Jan. 1985) 5,090 5,090
add Capital introduced during year 500 or -
Net profit (balancing figure) 650 2,250
6,240 7,340
less Drawings - 1,100
Closing capital (31 Dec. 1985) £6,240 £6,240

The above method of calculating profits is unsatisfactory, since it relies on
estimates in the statement of affairs and the advantages of double-entry book-
keeping listed in Section 14.1 are lost. Additionally, in the case where there are no
records of daily transactions such as the above, we have no idea as to how the
profit has been earned — for example, the figures for sales, gross profit and
expenses.

In cases where we have a detailed record of cash and bank transactions or
these can be estimated, we can construct a trading and profit and loss account.

14.3 Trading and profit and loss account from incomplete records

Let us continue the example above, but now the owner is able to supply cash and
bank figures from which we construct a cash book as follows:
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Jan. 1
Dec. 31
Dec. 31

1986
Jan. 1
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Cash Bank Cash Bank
£ £ £ £
Balance b/d 5 50 Dec. 31 Creditors - 8,010
Debtors 12,710 Dec. 31 Fittings 900
Bank 1,545 Dec. 31 Rent 800
Dec. 31 Other expenses 200 1,255
Dec. 31 Drawings 1,100
Dec. 31 Loan repayment 200
Dec. 31 Cash 1,545
Dec. 31 Balance c/d 250 50
1,550 12,760 1,550 12,760
Balance b/d 250 50
From the above we can calculate sales, purchases and rent by constructing
accounts as follows from information in the statement of affairs and the cash
book. We can enter the opening and closing balances from the statement of affairs,
and the cash and bank figures from our cash book, and we then enter a balancing
figure which is the appropriate trading and profit and loss account item. The
accounts set out below may help to clarify this.
Debtors
£ £
Jan. 1 Balance b/d 490 Dec. 31 Bank 12,710
Dec.31 Sales (balancing figures) 12,570 Balance c/d 350
13,060 13,060
1986
Jan. 1 Balance b/d 350
Creditors
£ £
Dec.31 Bank 8,010 Jan. 1 Balance b/d 770
Dec.31 Balance c¢/d 750 Dec. 31 Purchases (balancing figure) 7,990
8,760 8,760
1986
Jan. 1 Balance b/d 750
Rent
£ £
Dec.31 Bank 800 Jan. 1 Balance b/d 80
Dec. 31 Balance c/d 60 Dec. 31 Profit and loss account
(balancing figures) 780
20 860
1986
Jan. 1 Balance b/d 60



14.4 Goods

Alternatively, we can calculate the required figures as follows:

(a) Calculation of sales figure £
Amounts received from debtors 12,710
add amounts due from debtors at 31 Dec. 1985 350
13,060
less amounts due from debtors at 1 Jan 1985 490
Sales for 1985 £12,570

(b) Calculation of purchases figure £
Amounts paid to creditors 8,010
add amounts due to creditors at 31 Dec. 1985 750
8,760
less amounts due to creditors at 1 Jan. 1985 770
Purchases for 1985 £7,990

(c) Calculation of rent expense £
Rent paid during year 800
add rent due at 31 Dec. 1985 60
860
less rent due at 1 Jan. 1985 80
Rent expense for 1985 £780

Using figures from the above accounts, the statement of affairs and cash book,
we can now construct a trading and profit and loss account.

Trading and profit and loss account of Dawn Guymer for year ended 31 December
1985

£
Sales (see debtors account) 12,570
Opening stock (1 Jan. 1985) 1,095
Purchases (see creditors account) 7,990
9,085
less Closing stock (31 Dec. 1985) 1,000
Cost of sales 8,085
Gross profit 4,485
less
Rent (see rent account) 780
Other expenses (see cash book) (£1,255 + £200) 1,455 2,235
Net profit £2,250

The net profit of £2,250 agrees with the figure which we arrived at in Section
14.2.

stolen or lost

If a business loses stock through a burglary or fire, we need to know the value of
that stock for insurance purposes.We may be able to find out its value from stock
records, but if these do not exist, we may estimate the stock lost if we know our
normal gross profit margin. We have so far calculated our gross profit by deducting
cost of sales from sales. It is therefore a simple matter if we know gross profit and
other trading account items, except closing stock, to insert this latter amount as a
balancing figure.
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For example, Stuart Davis has a small retail business which suffers a fire on
15 March 1986. He knows that his stock on 1 January was £10,000. His sales
since that date have been £30,000, his purchases have been £18,000, and he esti-
mates his gross profit at 20 per cent of sales. We can construct a trading account
as follows:

Trading account of Stuart Davis for 11 weeks ended 15 March 1986

£

Sales 30,000
Opening stock 10,000
Purchases 18,000

28,000
less Closing stock 4,000(3)
Cost of Sales 24,000(2)
Gross profit 6,000(1)
NOTES

(1) We know that his gross profit is 20 per cent of sales — that is, £6,000 (20 per
cent x £30,000).

(2) Therefore cost of sales is £24,000 (£30,000 less £6,000).

(3) Closing stock must therefore be the difference between cost of goods available
for sale of £28,000 and cost of sales £24,000 — that is, £4,000. If, additionally,
the business has only incomplete records, it may first be necessary to construct
debtors and creditors accounts as in Section 14.3 to find purchases and sales
figures.

14.5 Worked examples
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Example 14.1

On 31 December 1982 G. Philpott’s balances were: premises £55,000; delivery vans £3,900;
stock £5,300; bank £4,290; trade debtors £3,910; trade creditors £2,900; capital £69,500.
Mr Philpott does not keep full accounting records, but the following information, relating
to the half-year ended 30 June 1983, is available.

£
Cash paid into bank, proceeds of cash sales 24,320
Cheques received from trade debtors 12,900
Cheques drawn for private expenditure 4,500
Cheques drawn for expense items 3,125
Discount allowed 50
Discount received 41
Cheques drawn for payment to suppliers 12,320
Paid for extension to premises by cheque 25,000

A £10,000 bank loan was taken out on 1 April 1983, repayable in equal quarterly instal-
ments over a five-year period with interest at 12 per cent per annum. The first quarterly
repayment was made on 30 June with the interest accrued to that date.

Depreciation on delivery vans is at the rate of 20 per cent per annum.

On 30 June 1983 the following figures are available: stock £6,300; trade creditors £1,900;
trade debtors £5,300.



REQUIRED
(a) For the six months ended 30 June 1983,

(i) the bank account;

[5 marks]

(ii) the trade debtors total account and trade creditors total account, showing the cal-
culation of credit sales and credit purchases;

(iii) the trading and profit and loss accounts;
NOTE: A balance sheet is NOT required.

[5 marks]

[7 marks)

(b) An explanation of the purpose of discount allowed and discount received. How does

each item affect the proprietor’s capital? [3 marks]
(AEB)
Solution 14.1
(a)
(i)
Bank
£ £
Jan. 1 Balance b/d 4,290 June 31 Drawings 4,500
June 30 Sales 24,320 June 31 Expenses 3,125
June 30 Debtors 12,900 June 31 Creditors 12,320
April1  Loans 10,000 June 31 Premises 25,000
June 31 Loan 2,500
June 31 Interest (1) 300
June 31 Balance c/d 3,765
51,510 51,510
July 1 Balance b/d 3,765
NOTE (1)
12 per cent x 3 x £10,000 = £300
(ii)
Debtors
£ £
Jan. 1 Balance b/d 3910 June 30 Bank 12,900
June 30 Sales (balancing figure) 14,340 June 30 Discounts allowed 50
June 30 Balance c/d 5,300
18,250 18,250
July 1 Balance b/d 5,300
Creditors
£ £
June 30 Bank 12,320 Jan. 1 Balance b/d 2,900
June 30 Discounts received 41 June 30 Purchases 11,361
(balancing figure)
June 30 Balance ¢/d 1,900
14,261 14261
July 1 Balance b/d 1,900
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(iif)
Trading and profit and loss account of G. Philpott for 6 months ended 30 June

1983
£
Sales (£24,320 + £14,340) 38,660
Opening stock (1 Jan. 1983) 5,300
Purchases 11,361
16,661
less Closing stock (30 June 1983) 6,300
Cost of sales 10,361
Gross profit 28,299
add Discounts received 41
28,340
less
Discounts allowed 50
Expenses 3,125
Interest 300
Depreciation (20 per cent x ¥ x £3,900) 390 3,865
Net profit £24.475

A balance sheet, while not required, is shown for illustration purposes.

Balance sheet of G. Philpott as at 30 June 1983

Fixed Assets £
Premises 80,000
Delivery van (£3,900 — £390) 3,510

83,510

Current Assets
Stock 6,300
Debtors 5,300
Bank 3,765

15,365

less Current Liabilities
Creditors 1,900

Working Capital 13,465

£96,975

Financed by
Capital (1 January 1983) 69,500
add Net Profit 24 475

93975
less Drawings 4,500
Capital (30 June 1983) 89,475
Loan 7,500

£96,975

(b) Discounts allowed to encourage prompt payment from debtors to help cash
flow and reduce possibility of bad debts. Expense reduces net profit and
therefore capital. Discounts received offered to us by suppliers for same
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reasons as we offer them to our customers. Income increases profit and there-
fore owner’s capital.

Example 14.2

On 1 January 1981 Colin Jakeman started business buying old motor vehicles, which he
broke up, selling good parts as spares and the remainder as scrap metal. All purchases are
paid for immediately by cheque and all sales of spares are for cash which is banked imme-
diately. He does not keep a proper set of books, but all transactions are carefully recorded
in a note book. The entries for the year ended 31 December 1981 have been summarised
as follows:

£
1 January 1981
Started business using freehold land and building valued at 70,000
Motor lorry 10,000
Cash in bank 1,000
During the year ended 31 December 1981: £
Purchases of old vehicles (paid for by cheque) 4,500
Sales of salvaged parts for cash 15,000
Sales of scrap on credit 14,700
Payments received for scrap 13,600
Wages paid to car dismantlers 5,000
Rates paid on property (1 Jan. 1981-31 March 1982) 900
Insurance paid (including £200 for 1982) 1,200
Heating and lighting paid during year 750
Heating and lighting unpaid but due for year ended 31 Dec. 1981 210
Drawings during year 6,000

On 1 July 1981 he purchased a car crushing machine for £30,000. The whole a<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>